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Instructions:-
(i)  Attempt all the questions.
(ii)  Read the question carefully and do accordingly.

(iii) Marks allotted to each question are indicated against it.

1. Read the extract carefully and answer the questions given below it :

Albert felt miserable when he left school that afternoon, not that it had been a bad day, had
to go back to the hateful place the next morning. He only wished his father would take him away,
but there was no point in even asking. He knew what the answer would be ; he would have to stay
until he had taken his diploma.

Going back to his lodgings did not cheer him up. His father had so little money to spare that
Albert could not find a room in one of the poorest quarters of Munich. He did not mind the bad food
and lack of comfort, or even the dirt, but he hated the atmosphere of slum violence. His landlady

beat her children regularly, and every saturday her husband came drunk and beat her.

Questions :
()  Why did Albert feel miserable? (2)
(i)  Find out the word from the passage which means “Sorrowful”. (1)
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(i)

(iv)

Give the opposite of “regularly”.

Give the adjective of “comfort”.

2. Read the extract carefully and answer the questions that follow :

“Who has not seen thee oft amid thy store?

Sometime whoever seeks abroad may find

Thee sitting careless on a granary floor;

Thy hair soft-lifted by the winnowing wind.

Questions :

(i)

(ii)

(i)

Who has been described here as sitting careless on a granary floor?

Find the word from the passage which mean :"Foreign”

Find the opposite of “found” and “careful” from the passage.

3. Answer any six of the following questions in about 30 words each :

(Vi)

Why does speaker not want the battle cry to be raised?

On receiving the invitation to the ball, Mathilde wept. Why?

What was Netaji’s way of dealing with defaulters?

Why was Skvortsov angry with the beggar?

What was the author’s theory about the shape of the foot prints?

When Dr.Karan Singh speaks about spirituality, what does he mean by it?

How does global warming affect the climate pattern?

4. Answer any two of the following questions in about 75 to 100 words each :

(i
(ii)

[002]-11]

Justify the statement that “Dream children : A reverie” is a lyric in prose.

(1)

(1)

(2

(1)

(2)

(6x2=12)

(2x4=8)

The poem “our casurina tree” is an ode in form and elegy in sprit and tone. Explain with

illustrations.
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(i)  Narrate how the storm outside is reflected in the poet's mind in the poem “A pray for my

daughter”.

5. Do as directed : (any five) (5x1=5)
(i) He is my friend.
He is wearing a pink shirt.
(combine the sentences using a clause).
(i)  Ishall go to the party if he invites me.
(Rewrite the sentence using unless in place of ‘if’ )
(i)  The teacher said to the students.”Do your work”.
(change the voice)
(iv)  (How......cooeennnns you talk to me in this way?
Put the suitable model (could, dare, should)
(v) Honestyis................... best policy.
(Insert article)
(vi)  He took bread and butter.
(change into interrogative)
6. Do as directed (any five) (5)
(i) Write down one five syllable word.
(i)  The story has no............... (moral/morale)
(i)  book (ccev, cce, cve)
(iv)  Rewrite the given word in “American English’- ‘analogue’
(v)  Hasnt he just finished? (write the sentence in the American English variants)

(vi)  Write the syllable structure of the word ‘subject’.

(FICTION)

7. Answer any one of the following questions in 120-150 words : (5)

(i) How did Rajam entertain his friends at his house?

(i)  Describe Mani’s personality.
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8. Answer ‘any five’ of the following questions in about 30 words : (5x2=10)
(i) What did Swaminathan tell his grandmother about Rajam?
(i) Where did Swaminathan’s grandmother live?
(i)  What did Mani decide to do with Rajam?
(iv)  How did Swami’s attitude change towards his little brother?
(v)  Whom did Swami suspect for writing ‘Tail’ on the blackboard? What did he do then?

(vi)  What change did Swami observe in his father’s behaviour?

(DRAMA)

9. Answer any one of the following questions in about 120 words. (5)
() Justify the title of the play “The Silver Box”.
(i)  The play “The Silver Box” is an attack on the hypocrisy of the British higher class..Discuss.
10.  Answer any ‘five’ of the following questions in about 30 words each : (5%x2=10)
(i) How was snow able to recognize that the silver box belonged to the Barthwick family?
(i)  What were the two charges made by the police against Jones?
(iif)  What was the reaction of Mr.Barthwick after meeting with unknown lady?
(iv)  What was Jones planning with stolen money?
(v)  Where were the two little girls found by the police?

(vi)  What reasons did Jones provide for taking the silver box?

(READING UNSEEN)

11.  Read the following passage carefully and answer the questions that follow :
Mankind has undoubtly progressed since medieval times. The earliest men lived like brutes.
Individuals fought among themselves and the strong destroyed the weak, for that is the law of the
jungle, The law of irrational life. But Man was not an animal. He possessed rational faculties. These

faculties gradually developed and appeared in his actions and man gave up the law of the jungle
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and made his own rational laws. Men saw that the law of physical strength was not applicable to
their lives. They realized that they had souls and the strength of being with a soul can consist in a
variety of capabilities other than the power to cut and kill, tear and bite. For instance, a man can be
strong in fashioning tools, or in controlling the actions of the other rational beings by the power of
song or speech. Thus men realized that they should not be fighting among themselves. But they
should be working together and giving one another opportunities to develop their respective
strengths. This was the first step in man’s progress. By these means men gained such control over
the forces of nature. They made each other so much wiser and more comfortable that they were

convinced that they were the best creation of God.

Questions :

()  What do you mean by the law of the jungle? (2)
(i)  How was man different from animals? (2)
(i)  What did man realize when his rational faculties were fully developed? (2)
(iv)  Use the following in your own sentences : ‘give up’ (1)
(v)  Find out the words meaning similar to (1+141)

(a) developed
(b)  ruined

(o)  achieved

(UNSEEN POEM)

12.  Read the following poem carefully and answer the questions that follow :

So stately his form and so lovely her face,

That never a hall such a galliard did grace,

While her mother did fret, and her father did fume,

And the bridegroom stood dangling his bonnet and plume ;
And the bride maidens whispered Twere better by far,

To have match’d our fair cousin with young Lochinvar.

One touch to her hand, and one word in her ear,
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When they reach’d the hall-door, and the charge stood near :
So light to the croup the fair lady he swung,

So light to the saddle before her he sprung !

She is won | we are gone, over bank, bush, and scour :

They * have fleet steeds follow’, quoth young Lochinvar.

Questions :
()  Write one quality each of the Lochinvar and the bride. (2)
(i)  What were the reactions of the bride’s mother and father? (1)

(a)  Both were angry
(b)  Both were happy
(i)  Was the bridegroom a brave man or a coward? (1)

(iv)  Find out the word similar in meaning to ’grand’. (1)

(WRITING ESSAY)

13.  Write an essay on any one of the following topics in about 250 words : (7)
(i) Science in our daily life.
(i)  Value of games and sports.
(iii)  Any current Burning problem of India.
(iv) A visit to a historical place.
(v)  Democracy in India.
14.  You are Sunil Sharma studying in class Xll in Govt. Excellence H.S.S Dewas. You have lost your

blazer at the play ground on the annual sports day. Write a notice for the school notice board.  (4)
OR

Write an article for your school news letter on the positive as well as negative aspects of using cell

phones.
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15.  You are Joseph of St. Stephenson’s School Bhopal. Write a letter to a railway official inquiring in

connection with a proposed educational tour. (4)

OR

Write an application to the Principal of your school requesting him to send your provisional and

character certificate.
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Total No. of Questions: 15 Total No. of Pages: 07
Higher Secondary Examination 2016
052
Subject: ENGLISH GENERAL
|AA 1 03 HOC quiieh : 100

Time: 03 Hours Maximum Marks: 100

Instructions:-

(i)  All questions are compulsory
(ii)  Read the questions carefully and answer them.
(iii)  Marks for each question are indicated against it.

(iv) Internal choices are given as per the blue — print.

SECTION — A (Reading)

Q.1 Read the following passage carefully and answer the questions given below it -

Today India looks like it is on the course of the league of developed nations. It is the beginning to
establish a reputation not just as the technological nerve centre and back office in the world, but
also as its production centre. India’s secularism and democracy serve as a role model to other
developing countries. There is great pride in India that easily integrates with a global economy, yet
maintains a unique cultural identity. But what is breath-taking is India’s youth. For despite being an
ancient civilization that traces itself to the very dawn of human habitation, India is among the
youngest countries in the world. More than half the country is under 25 years age and more than a
third is under 15 years of age.

Brought up in the shadow of the rise of India’s service Industry boom, this group feels it can
be at least as good, if not better, than anyone else in the world. This confidence in them is
demonstrating a great propensity to consume, throwing away ageing ideas of asceticism and thrift.
Even those who do not have enough to consume today feel that they have the capability and

opportunity to do so.
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The economic activity created by this combination of a growing labour pool and rising
consumption demand is enough to propel India to double its economic growth for decades. One just
has to look at the impact that the baby boomers in the US had over decades of economic activity,
as measured by equity and housing prices. This opportunity also represents the greatest threat to
India’s future. If the youth of India are not properly educated and if there are not enough jobs
created, India will have forever lost its opportunity. These are danger signs in abundance.
Questions:

(@)  More than half Indian country is under ...................... of age. [1]

(i) 20 years (i) 25 year (i) 50 year

(b)  More than one third country is under ............ years of age. [1]

(i) 15 years (i) 100 years (i) 10 years
(¢) Adecade means a period of .............. years. [1]

(i) 50 years (ii) 10 years (i) 20 years
(d)  What is breath taking in youth in India? [1]

(i) India is among the youngest country in the world.
(i)  Indian youth is very ambitious.
(iii)  Indian youth is very greedy.
()  Which thing serves as a role model to other countries? [1]
(i) Economic growth
(i)  Properly educated

(i)  Growing labour.

(f) The word which means ‘To drive forward’ is — [1]
(i) Propel (i)  Fan (i) Thrift

(g0  The word similar in meaning to ‘beginning of something’ is — [1]
(i) Shadow (i)  Dawn (i)  Rain

(h)  There is great pride in India that easily integrates with global economy, yet maintains a
unique .............. identity. [1]

(i) Cultural (i)  Sports (ii)  Racial
() What makes the author think India is on the verge of joining the self band of nations? [2]

(i) Why does the younger group feel that it can be at least as good if not better, than anyone

else in the world? [2]
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Q.2

Q.3

Q.4

Read the passage and answer the questions given below it -

‘Where there is a will, there is a way’, is an old saying. He who resolves upon doing a thing, by that
very resolution overcomes the obstacles to it. It is so in all the occupations of life — at school, at
college or in the world. To determine to succeed is the surest way to success. Difficulties disappear
before an unswerving resolution. This was well exemplified in the life of Napoleon. He threw his
whole force of body and mind upon his work. He was told that the Alps stood in the way of his
armies. ‘There shall be no Alps’, he said and a road was made across them, over heights previously
considered inaccessible. ‘Impossible’ said he, ‘is a word only to be found in the dictionary of fools’.
And so it is, a determination not to give in is the surest condition of success in any undertaking. But
the young student must carefully guard himself against the errors of mistaking a mere undisciplined
energy and self will for the needful firmness and self-command on which success depends.

Questions:
(i) Make notes in points, from the above passage, using abbreviations, where necessary. [5]
(i)  Write a summary of the above passage in about 50 - 60 words. Suggest a suitable title also
for it. [3]
SECTION — B (Writing)

You are Suresh Sharma, the cultural secretary of your school. Draft a notice giving information
about the selection of two participants from your school to take part in the Inter-school debate

competition. (in about 40 words) [5]

OR

Your father has been transferred to another city. You want to sell certain house hold goods. Write a
suitable advertisement to be published in local newspaper. (in about 40 words)
Using the following input, produce a write up on ‘Importance of Developing Reading Habit’ - [6]

(i) Field of knowledge expanding fast.

(i)  Reading at school limited to subjects offered.

(i)  Extra reading necessary for rounded personality.
(iv)  Creation of generation gap.

(

v)  Reading makes a full man.

OR
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Q.5

Q.6

Q.7

Q.8

Write a report to be published in a newspaper giving the detailed account of inauguration ceremony

of the annual function held in your school, using the following details:

(i) Name of the event, occasion, date, time, place.

(ii) Chief Guest, guest of honour and chairman of the function, welcome address, floral welcome
speeches by the guests, vote of thanks.

Write a letter to the Collector of your district about the lack of facilities and malfunctioning of the

government hospital of your area. [6]

OR

You are Akash Sharma residing at 52, Sultan Street, Raipur. Write a letter to your friend Javed
Khan, congratulating him on his brilliant success in the Higher Secondary Certificate Examination.
You are Nisha Jain residing at 56, Vijay Nagar, Sagar. Write a letter to your friend inviting him to

attend your birthday party. [6]
OR

Write a letter to the postmaster complaining against the postman of your area. You are Rohit Dave.
Write an essay on any one of the following topics in about 200 — 250 words: [7]1
(i) Science in our daily life.

(i)  The problem of unemployment.

(i)  Value of games and sports

(iv)  The person | like most

(v)  The festival you like most

Fill in the blanks with the correct option given below in each sentence: [5]
(@) Haveyou............... complaint against us?
(i)  much @iy any
(iii)  many (iv)  both
(b)  Mr.Vivek Talrejais ................ M. L. A.
(i) a (i)  the
(iiy an (iv)  no article
() Wearegoing ............... a match today.

[052]-111 Page 4 of 7



() playing (i) play
(iiy  played (iv) toplay

.............. spring arrives, the flowers bloom.

(i) till (i) assoonas
(i)  when (iv)  where
Helost .......... the money he had.

(i)  each (iy  all

(iiy  every (iv) some

Q.9 Do as directed (any five):

Q.10 (A)

[052]-11]

They were playing cricket. (Change into passive voice)
| did it, (Change into negative)
Your brother broke the chair. (Make a question with ‘what’)
(i) They got enough money.
(i)  They live comfortably.
(Combine using ‘and’)
The bag was red. The bag contained money.
(Combine the pair of sentence by using a relative pronoun)
Who are they? | don’t know.

(Combine the pair of sentences to make a complete sentence using a noun clause)

SECTION — C (Text books)

Read the following extract from a poem and answer the questions given below it -
To those nearest me.

My family, my Friends, my co-workers.

Help me to be aware that

No matter what words | hear

The message is

‘Accept the person | am, Listen to me.’

Questions:
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(@) A word similar in meaning to the word ‘attentive’.
(i) Preventive (i)  Active
(i)  Aware (iv)  Co-worker

(b)  The word opposite in meaning to ‘farthest’:
(i) Nearest (i)  Sweetest

(i)  Dearest (iv)  Utmost

()  Write the name of the poem from which these lines have been taken.

Can | admire the statue great,

When living man starve at its feet?

Can | admire the park’s green tree,

A roof for homeless misery?

Questions:

(@)  Name of the poet of above lines of poem —
(i) Sri Aurobindo (i)  W. H. Davies
(i)  William Rands (iv)  Anonymous.

(b)  Give the meaning of the word starve’ —
(i) Die of hunger (i)  Labour hard
(iii)  Work comfortably (iv) Live unhappily

()  Why does the poet say that he cannot admire the great statue?

Q.11 Answer any two of the following questions:

(@)
(b)
()

What makes the poet think that man is God’s greatest creation?
How does the river praise the forest?

What is the attire of the earth?

Q.12 Answer any seven of the following questions in about 30 words each:
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What was Mini doing in the balcony?
Who was Swami Arvasu?
Write two ways in which the crows irritated the author.

Why should we leave our comfort zones and how?
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(e)  What is the best way to disarm hostility?
(f) What was the topic of discussion at Dabney’s?
(9) Why did Ghazi curse Master;ji?
(h)  Why did the new passenger not notice her hair?
(i) What difference between a real book and a tele book did Tommy point out?
Q.13 Make a list of civic duties as suggested by Dr. Kalam. Why does he suggest this? [4]
OR
Describe the structure of the brain.
Q.14 Answer any four of the following questions: [4x2=8]
(@)  What makes ‘a team’ ‘a whole’?
(b)  What are distilled books like?
(c)  What are the benefits of meditation?
(d)  Why was Jamshedji prohibited from entering the Majestic Hotel?
(e)  Where is Chitrakoot situated?
Q.15 Answer any one of the following in about 75 — 120 words: [4]
(@)  “Nature’s bounty is boundless”. Explain it.

(b)  What will help you to improve your English at the beginning?
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(€) ST oo ST JEerl Wi e |
@) e
(@ o
@) R
(&) "=
U5 Sfudideed fudr foad —
(@) ‘IR e Ugg e ATRG—
(e1) TS
@) orfern
(@) o
(%) gamwr:
@) A SR YA s IfRd—
(@) wEf:
@) g
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(@) o
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(&) e
(&) sE™
(@) 7= anr fowfed: uyged wafa—
() fecin
(@ e
(@) =ge
(%) e
(8)  "BHOT o R |
(@) fecn
(@ e
(@) =gt
(%) e
U6 AEIRacy ULy AT YT STRIOT Ueh arer folRga—
(i) HH TE?
(i) TR ATIHal HaT qafa?
(i) OTAT 3TE B BRI PooIdl?
(v) DI VI T@R: IR PP
(v) TR eeper fob ameiyf?
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U7 HETDIA: BICIETE: BI-—hI ATCHI IREA?
SIEIE
MR AR FAATHRE A forad | M0 &fa e af=a?

U8 SARFART & quiaq Rd?

3dT
SIREART BRI A JedT ARA?
99 NATEERH A URiE IRy YoFieRE M ford |

A4l
Hfq dergT= |fd?
U.10 UlST ISTOITERY IR T==I1 H1i- 1 |fd?
AgdT

BT IeT: Afa? Ame forad |
U411 JAEARETY FA0N oY SRS AT Yfeg: BRONAT: —
()  9TIPT: UTS Usfa
iy St IOl T |
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(v) faerer aRa: e oiRka |
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(@) ST
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() DY HMH?

(i) YW JIRT BT JaAI?

(i) AT G &7

(iv) g9 fo ufafted?

(v) HERORY fbd A AIq?
(vi) HAAT Rl B?
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TR AUy, TET 2016

110
fawg : sfoesT

Subject: HISTORY
(Hindi & English Version)

|AA 1 03 T quiie : 100
Time : 03 Hours Maximum Marks : 100
fAeer —

(i) T g7 87 BT TS &
(i) T HHE 1 & 5 TF TG J97 77 &1 AP 797 P 77 5 3P
R &1
(iii) FoT BHIF 6 H 24 TH FAH F97 4 aied [dveq 77 &/
(iv) TAE 97 & GHE ST [T 3F To7 77 &/
INSTRUCTIONS: -
(i)  All questions are compulsory.
(i)  Q, NO. 1 to 5 are objective types. Each question is allotted 5 marks.

(iii) Internal options are given in question No. 6 to 24.
(v) Respective marks are shown in front of each question.

grs -’
Section — A
g1 Rad wIEl 31 gid Hifoe— (5)
Fill in the Blanks-
() TEERETS Bd YIRS AT & AR TSl DI S q g o

(i) T T DT ARTUD ..ooooreveervnes o |

(i) Y ARIAT B A Bl gTg B STHRI e ol |

(1Y) N BT AT BT ST BT ST 2 |

(v) TRrams @ AT BT A ofr |

[110]-10 Page 1 of 7



U2

U3

U4

TS qia I U 96q H S} QIfoTg—
Write the answer of the following questions in a sentence or in a word each.
(i) T<HGRH & DA DI A?

Who was the writer of Vande Matram?

(iy #feR &1 TR B Fer SIar 87

Which town is known as “Town of Temples”?

(i) "B AT AR BT ART TEASH 7 fB eride | e or?
In which movement Gandhi ji gave the slogan “Do or Die”?

(iv) Tl fod UpR &1 T oa1?

Which type of cloth was nivi?
(v) TP 9 9RA & oY a1 gl A0l &a Groire

In which year Vaskodigama discovered the new sea route for India?

SRS

G 9
(i) fomar ()  RrgmT
(i)  PTATND @ e 9w
(iii) ST @) w@r fadeee
(iv) XGRS e @) 1757 %.
(v) SR wfe 8) <ad ud dreAifa
Make the correct pair-
Column A Column B

i)  Vimbasar (a) Shishunag Dynasty
ii)  Kalashok

(

( b) Haryak Dynasty
(iii)  Balban

(

(

(
(c) Swami Vivekananda

iv)  Ramkrishna Mission i) 1757 A.D.

—

v)  Alinagar Agreement

—

ii) Blood and Iron Policy

A /3T BT I HIfoTu—

Write True/false in the following sentences:-

() T 9 BT RAYAT 184 3. G9 GAAS YA A DI AT |
Pushyamitna Shung established the Shung Dynasty in 184 B.C.

(i) FeIYS H SIS HAWE 13 AE 1923 H Y& ol |

Flag movement was started in M.P. from 13" March 1923 A.D.
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o

3egdhd DI G AT 1515 H a1 H T8 |

Albuquerk died in Goa in 1515 A.D.

M @R # 1ol SwdTdsi &7 W 9U8 2 |
The National Archives also contain private documents.

IRAR ISR B & T 3fede] GIsrd d=oit o |

Surendranath Banerjee was the First President of Indian National Congress.

g5 el

faheu Ffrg—

Chose the correct option in the following-

(1)

[110]-111

Ufgq BT AMIHR T3 AT—

(i)  YRIUTYOT BT H

(i) ~ STIUTSTOT BT H

(iii)  FETUTHTOT BT H

(iv) SIS B H |

When was the Discovery of wheel take place-
(i)  InPrestone age

(i) In new stone age.

(iii)  In middle stone age

(iv)  In morden age.

TS 99 BT TRATID bl 2AT?

(i) AT A
(iy P A
(i) SHTEM el

(iv) Soad 7 H B T |

The founder of the Lodi Dynasty was-
(i)  Bahlol Lodi

(i)  Sikandar Lodi

(iii)  Ibrahim lodi
(

iv)  None of the above.

Page 3 of 7

()



(3) dorHEd &1 AT favasT aul # gar?

(i) 22 auf #
(i) 20 auf H
(iiy 18 auf H
(iv) 23 9uf #

In how many years “Tajmahal” was built?
(i)  In22years.
(i) In20 years.
(iii)  In 18 years.
(iv) In23years.

(4) YT @1 fgdla g g3 AT—

(i) 1556 ZH
(i) 1526 gH
(i) 1562 %. H
(iv) 1761 S8
When was the second battle of Panipat fought?
() 1556 A.D.
(i) 1526 A.D.
(i) 1562 A.D.
(iv) 1761 A.D.
(5) MRS YRR LT BT & USRS Tl ofi—
() wauTe gaR
(i) T 9IeaT BT garR
(i) g=TAE guR
(iv) @I H BH

Which one of the following was not the achievement of Initial Indian National Congress?
(i)  Constitutional improvement.
ii)  Publicity of national thinking.
i)  Administrative improvement.

iv)  Reduction in Taxes.
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.6

.7

U8

U9

v.10

g1

I8 T 57 IRl 9.1 d T A faRag |

What are Vedas? Also write the names of four Vedas.
34l OR

MR R e fewelt foRau |

Write a short note on Ramayan.

SSUTAR BIFd—dF A B ST A7

Write the names of Crops of Harappans.

34T OR

YRTUTSTOTT T HIFT WTAEQIRT Siigd F1 Scild Rl ofT?

Why the man of prestone age lived from here to there?

ST BTeiE F9e § REdl &1 <2 &l wey 9 forRay |

Write about the condition of Women during the Rajput period briefly.
314l OR

AP Brei= gof gavem gr fewof) foRau |

Write a remark on Varna system of Vedic period.

EI-T—gTe! g8 fha gomar o

Who was the founder of Din-E-llahi religion?
314l OR
HERTUM YdTd bl Fiered gRerd <1 |
Write a short introduction of Maharana Pratap.
IR H M dTell IR FRIU™ SIfadl & A 9aisy |
Write names of four European castes which came to India.
314l OR
ST B AT? I8 IRA H Hd A Hd P &I?

Who was Almida? Write about the period his in India.

e 9RO a8 &1 SR & o Ridd! &7 Ag@ W HIY |

Write about the importance of coins for the knowledge of Ancient Indian History.

34T OR
HE UTHTT BTt AG Sidd &1 W fawmang foray |

Write the main characteristics of human life of middle stone age.

912 Ry I & e @ @8 TR SR foReay |

Write any four reasons for the decline Sindhu Civilization.
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U.13

U.14

.15

U.16

17

U118

3e0dl OR
O g9 @ D HETadl bl HHSSY |
Explain the “Panch mahavratas” of Jainism.

el TABT B WY WA= B fa9varg farfau |

Write the characteristics of local Administration of Cholas Administrators.

34l OR

AT Bl dell W) ool forRag |

Write a remark on art of Chola Period.

R D) A B UG 9Tt BT Seord BTy |
Describe the main conditions of Agreement of Purandar.

3dT OR
fRrarehl &1 Afh Tawe BT Seoikg BT |

Discuss in detail the military strategy of Shivaji.

YRT H SAT & UdT b BRI BT Soold BIFU |

Describe the reasons of decline of Dutches in India.
341 OR
STEETE &I | @ i forfay |
Write the conditions of Allahabad Agreement.
T A GURS & ®U H o1 IFHET T B 1Y forfay |
Write the work of Raja ram Mohan Rai as a reformer.

34l OR

1773 3. @ TS Tae &I T gRIY foiRay |
Write about main sections of Regulating Act of 1773 A.D.
HEYTT | THATYT Bleil- a9y HEl U 8d &7 \&d H 9a1sy |

(4)

(4)

(4)

Write in short about places where the elements of copper stone age found in Madhya Pradesh.

Y4l OR
qeIUSel H YT ARt Ud Aol &1 Geg H guie BIfTy |

Write a short description of Shailashrayas and Shalchitras of Madhya Pradesh.
EME & g Bl fARryang faRey |
Write the characteristics of “Dhamma” of Ashoka.

31erdT OR
JUTC 31MP A dhg 99 & U9R & folv RIT—aam g fhe? aof| S |
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.19

.20

.21

U.22

.23

U.24

Explain about the efforts made by samrat Ashoka for expansion of Buddha Dharma.

o

"AATIGA RaeToll &1 IoR FaweqT BT gl BT |

Explain the Bazaar System of Alauddin Khilji.

31d1 OR
HEIDBIA H Y 4 SNala @l ygE faRivam faRag |
Write main Characteristics of Bhakti movement of middle Age.

RIS & IHY & T HROT folfay |

Write main reasons of rise of Marathas.

3T OR
R & alRa &1 qearema I |

Evaluate the Character of Shivaji.

$YRds IR &l A8 §HS guRE 9l $Hal Sl o7

Why Ishwar chandra Vidya Sagar is called a great reformer?

34T OR
T 1857 3. DI Hifd DI SRABAAT & BRI BT JU DI |

Describe the reasons of failure of the revolution of 1857 A.D.

ARYQE H BIFA—DIF A [RIBIel Helg UTa §Y° =T BIFTY |

Describe about the Archives of Gupta themes found in Madhya Pradesh.
34l OR

Yo IO AT WU H HeIYSE BT T JNTGI 817

What was the role of Madhya Pradesh in first freedom movement?

ROl @ feror HAify & aReme faRay |

Write the results of the south policy of Aurangzeb.

31eraT OR
IHIR B i T &1 v fRang 9d1sy |

Write the main characteristics of religions policy of Akbar.

TSN 3Malold & HRON TN YhTI SIfelv |

Describe the causes of the Non Cooperation Movement.

314l OR

HIRA OS] dﬂdloﬁ a% NTH A $ HIRT ddigy |
Describe the causes of failure of Quit India Movement.
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Total No. of Questions: 20 Total No. of Pages: 08

TR AUy, TET 2016

120
fawg : e

Subject: GEOGRAPHY
(Hindi & English Version)

I 1 03 TS QUi : 75
Time: 03 Hours Maximum Marks: 75
fader —

() & geT T &/

(i)  FoT-9F F Q% 74 [T Faen-qas gedby Fe » G [/

(iii) FTT HHEH 1 F 4 TP G708 J97 &/

(iv) Fo7 HFIF 5 & 20 TF JT<ilve Reeq T &/

(v) F¥7 HHE 5 & 8 TF JAF F97 @ ford 2 & [eRa & va gds go7 &7
IV 30 FIs5] H foregar &/

(vi) T FHIE 9 & 12 TF JAF F997 & [0V 3 3iF & U JAH F97 & IV
50 @ 75 F1sq) & foraer &/

(vii) FIT HHHE 13 & 17 TF FAD J97 & [/ 4 3 & VT FAH 97 &7 GV
75 & 120 gt F foreger 8/

(viii) FFT HHF 18 & 20 TF JAF J97 & [ord 5 35 & VT gcddb §97 & TV

120 & 150 & forar &/

INSTRUCTIONS: -

[120]-11]

(i)  All questions are compulsory.

(ii)  Read the instructions of the question paper carefully and answer the questions.

(iii) Question Nos. 1 to 4 are objective type.

(iv) Internal options are given in Q. Nos. 5 to 20.

(v) Question Nos. 5 to 8 are assigned 2 marks each and answer should be given in
about 30 words each.

(vi) Question Nos. 9 to 12 are assigned 3 marks each and answer should be given
in 50 to 75 words each.

(vii) Question Nos. 13 to 17 are assigned 4 marks each and answer should be given
in 75 to 120 words each.

(viii) Question Nos. 18 to 20 are assigned 5 marks each and answer should be given
in 120 to 150 words.
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TS UeT —
U1 Rad et & g Ak — (6)
Fill in the blanks:-

O T 155 K R S N A 1 2|
The father of Human Georaphy is ......o.viiiiiiii e

(i) dTeID /qIrBTs BT FAA G ATl QU H FATTUTT o BT T |
In the equal death rate country the sex ratio IS ........co.oiiii i

1L 55 1 OSSO g |
The settlement is the identification of ... Human

(iv) TITT BT FTH SMADB T oo <9 H IO BIAT B
................................................................... has highest production of Jute in the world.

(V) ATSEIRAT BT TITAT NTT oo seeeeeeeseeeeeeeeee s seeessssseeesess e e seeeeesseseeeeeessess e =
The life line of SAIDEMA IS . ..o e

g2 el SISl g8y — (5)
3 9

() HRd BT FGH HH ST iy  SATBIEIG
qTell XY

iy o TR (i) 9T BTS

(i) UeIferaH (i) Piaell

(v) Ho P WSl H RId a8 (v) O gfoey

(v) Sccls Ua¥ P UTHIOT Il (v) ITRUTdel Uaer

A B

(i) The lowest populated state (i) Allahabad

(ii) Religious town (ii) Bombay high

(i)  Petroleum (i)  Kandla

(iv)  Port situated at gulf of kuchh (iv) Fan pattern

(v)  The rural settlement in the (v)  Arunachal Pradesh

[120]-11]

Delta region
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o N

g3 el fd&hey &1 999 N —
() ST UGEY A BT SERT Bl g
(1) &
@ crEwEsS
(@) iferar
(@) SwRIad w4

Water pollution causes which disease?

(@) Cholera

(o)  Typhoid

() Jaundice

(d)  All of the above

(i) WRG $ URFH e R ReId Vb WHfad Iy o—
(&) e
@ 7=
SIESIEINE
(@ @rdm

One natural Seaport at India western sea-cost -

(a) Kandala

(b)  Mumbai
(¢) Nbhavasheva
(d)  Cochin
(i) el AT B g fBFAR Ry e yasr &1 99 7
o) Frag —qo
@ Brer TR
(%) o
() gl

Industrial Estate situated at both of the banks of Hugli river:-
(@) Mumbai —Pune industrial area

(b)

(c) Gujrat
(d)

Chota Nagpur

Hugli
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(iv)

TN &5 B AN BT Yl Fadrg 8idr g —

(@) B T &M
@ PN g Faa™
@) o T oy
(@) SN 9 Harg

Primary Occupation of rural area:-
(a)  Agriculture and Industry

(b)  Agriculture and Business

(c)  Agriculture and Animal Husbandry
(d)  Industry and services

RS TF oo TR 2|
(a1) enfiie

@ uremS

(d) w@rey

@) fRer TR

Shimalais .......coovviiiiinn. city.

(a) Religious

(b)  Administrative
(c) Health Resorts
(d)  Educational

U4 UAH BT Uh IId H IR SIOTY —

Answer in one sentence each:-

[120]-11]

i) fra @S &1 S &ifh o ¢S HEd &7

Which mineral is known as “Jack of all trades”?

(i) TS Td STHRIRYR 5 UHR & TR &1 IaTERT o7
Bhilai and Jamshedpur are example of which kind of city?
(i) ¥RT BT TS ¢b s fhad gqarar?
Who built the Grand Trunk Road?
(v) TR Sfear aar 87

What is Air India?

(v) € uguor fhe wed 27
What is the sound pollution?

Page 4 of 8
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U5

U6

7

.8

U9

9.10

g1

[120]-11]

AE T B BIg T gy forlRed |

Write any one definition of Human Geography.

3141/ OR
A e fawg &3 & a1 fag faRe?

Write any two points of subject matter of Human Geography.

TR g B a7 faear) forRay |

Write any two characteristics of Urban Settlement.

31Uar / OR
UTATOT AT BT et 87

What is a rural settlement?
TG QRAT AT Yool sy e 87
What is a Urban Hamlet?
31e0d1 / OR
TR vy’ gt &1 a1 |
Draw a diagram of the Arrow Pattern settlement.
arg UguYT & Big &l HRUT fARaY |

Write any two reasons for Air Pollution.

3gdr / OR
& YUY BH BRI D Blg al U [AfREy |

Write any two methods to check noise pollution.
BRI {4 ped 87

What is Green Revolution?

34T / OR
g4 | B aTel I gcel oy faTRav |

Write the three visible advantages of forests.
g &g’ i uRg 2
Why Mumbai-high is famous?
31e0dr / OR

GfSTl BT TRET0T T JMITIh 87 Pl oI BRI foIfRgu |

Why mineral conservation is important? Write the three reasons of mineral conservation.

TR & Tgb IRIET &1 a9 T9Te fTRau |

Write the three main problems of road transport.

Page 5 of 8
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.12

U.13

U.14

.15

U.16

U7

31fdr / OR

YRA &1 A UHE U8 s+ uiRagd & aM fafag |

Write the of name of three important pipeline transport in India.
faceh @R & dea 87

What is the foreign trade?

AUd1 / OR
FRTE YR BT GATFAT B Tl T SR BT gui HIFTY |

Explain the three conditions affecting international trade.
R § S gfg @ P AR SR forlRad |

Write any four causes for the growth of population in Asia.

a1/ OR

T &R AR G TR DI ARATNT DI |

What is meant by ‘Birth Rate and ‘Death Rate?

AR ARAl & P IR A oIy |

Write any four characteristics of means of communication.

3Udr / OR

X gRaed & IR A Ry |

Write any four advantages of Rail Transportation.

g Td HER SR H g IR <R ARy |

Write any four difference between small scale and cottage Industries.

3041 / OR
HET & TG fharhaml o o8 IR faewdrd ok |

Write any four characteristics of primary human activities.
IRA § TRIY A& ghg H ST iy IR TR ol |
Write any four problems of the urban population growth in India.

34T / OR
TRART ST & AR & Pl IR BRI foIlRay |

Write any four causes of migration of population in India.
RA H TG I @ ol MMaedd YRMfeld q2mmell & foalRad |

Write Geographical conditions required for rice production in India.
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.18

.19

31491 / OR
YR J&T &I Dls IR TR faRag |

Write any four problems of Indian Soils.
SRS FY 3R aiRe HY 7 S uia R foalad |
Write any five differences between subsistence agriculture and commercial farming. .

34T / OR
IS S Bl SYANAT Td YR § g9 Ut &=t &l forfRad |

Write the uses of Bauxite and their production areas.

I W favg & gt ¥ fA=falRad & gy —
R SR

i) SrAATSIRIT NeTHN

iv) RISl TR
V) RIHISUSHTE g1

Show the following in the out line map of the world:-

(
(
(i) S H BIABIAT STAART
(
(

i) Swez canal

i)  Trans Siberian Railway

(
(
(i)  Mumbai to Kolkatta waterways.
(iv)  Sidney city

(

v)  Newfoundland Island

34T / OR
I W favg & g ¥ fA=falad & gomsy —
) AT e

m C C
ii) PUCST H HAd ST

(
(
iy uTe (el gaTs Srsel
(
(

iv) SRR TINT PIf~e-veel Nefamt
V) oK YN

Show the following in the out line map of the world:-
(i) Panama Canal

(i)  Cape town to Melbourne water ways.

(iiy  Palam (Delhi) Airport

(iv)  Australia Trans-continental Railway Route.
(v)  Singapore

[120]-11 Page 7 of 8
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U420 TR BT H iR AR & Ui HROT oIy |
Write the five factors of Grouping of Damodar Valley industries?

341 / OR
TR BT AT BT JATFAT B dTel Ui HROT foTRad |

Write the five factors affecting Industrial localisation.
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TR AUy, TET 2016

130
v : o I

Subject : Political Science
(Hindi & English Version)

|AA 1 03 HOC quifd : 100
Time : 03 Hours Maximum Marks : 100
AT — () T geT s &

(i) 797 97 4 3T T4 A7 GG g@E 9gHv I [oneay ]

(iii) TET HHH 1 & 5 TF TG [75 J97 & FAT & fo7d 5 5F BT &/

(iv) ¥7 BHIE 6 & 24 TF H e ey 3 13 &/

(v) HIT BHE 6 F 10 TF AP F97 @ o170 2 3j& BT &8/

(vi) I HHE 11 & 17 T JAB J97 4 3 &7 & vq g9 & SV ATHT 75
szt o foreger &/

(vii) F¥7 FHHH 18 W@ 22 TF FAF F97 & o7 5 3F VT 99 & GV I THT
120 st 7 foreger &

(viii) F¥T HHH 23 & 24 TF FAF F97 & [o7¥ 6 3HF T 99 & TV FTHT
150 st 7 foreger &/

INSTRUCTIONS: -

[130]-111

(i) All questions are compulsory.

(i)  Read the instructions of the question paper carefully answer the questions.

(iii)  Question No. 1 to 5 are objective type. Each question is allotted 5 marks.

(iv) Internal options are given in Question No. 6 to 24.

(v)  Question No. 6 to 10 Carry 2 marks each.

(vi) Question No. 11 to 17 Carry 4 marks and answer should be given in about 75
words.

(vii) Question No. 18 to 22 Carry 5 marks each and answer should be given in about
120 words.

(viii) Question No. 23 and 24 carry 6 marks each and answer should be given in
about 150 words.
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91 el fdbeu Faax fafay —

Choose the correct alternative:—

(i

(ii)

(i)

[130]-111

fr=ifed 9 9 &9 e e § $9IR & IR | faR 9 faavor fyerar & —

(i)  JIH

(i)  XToT aRiATof
iy fa mfde
(iv)  IdiSTel!

In which of the following books, do we find detailed in formation about Kashmir:—

(i) Arthashastra
(i) Raj Tarangini
(i)  Geet Govind

(iv) Geetanjali

Afaa Ao § gt fdar w9 o —

() 299 11 918 3R 18 feA
(i) 2 99 11 918 3R 20 feA
iy 2 a¥ 11 718 3R 8 o
(v) 2 a9 11 #18 3R 10 fa=

The constitution was prepared in —
(i) 2 Year 11 months and 18 days
(i) 2 Year 11 months and 20 days
(i) 2 Year 11 months and 8 days
(iv) 2 Year 11 months and 10 days

UTeY AR BT Jeger hie or?

() S FTSHR
iy 9 UH IqH
(i) @ A A

(v) Y $HeIq

Who was the chairman of the Drafting committee?

(i) Dr. Ambedkar

i) B.M.Rau.

i) K. M. Munshi

iv)  Subhash Kashyap

Page 2 of 8
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(iv)

IS SIRANT BT o 1ehel Bl & i—

()  ~rgufa

(iy  GTHAT
Giiy =
(iv) TEHA

The ex — office chairman of the planning commission:—
(i) President

(ii) Prime Minister

(i)  The Finance Minister

(iv)  The Home Minister

YT NI B eqol Bl gefd fb T @l 82

(i)  cflc

(i) B

(iii) ATed

(iv) TR

The back ground of the flag of the United Nation is of which colour?
(i) Red

(i)  Green

(iii)  Blue

(iv)  Orange

g2 Read =l &1 gfd sifog—

Fill in the blanks:—

[130]-111

TSTHTYT ST B STETET ..o o
................... was the chairman of official language commission.
AT FHAT T oo H gar o |

The problem of chakma Refugees was between India and ..................
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U3 9/ I BT YA — )

Identify True/False statement:—

(i

(ii)

(i)

(iv)

(v)

qH — I & NG 1 IR § GRe0THS &Fars $l ggrar 3T |

Theory of sons of the soil promoted regionalism in India.

HEHINGT § AM{ed SRG&NIE P YdTE 1 1T & |

Collective responsibility is promoted in co — operative movement.
IRAT ST A 1991 | FATT DR &7 a7 |

Warsaw pact was cancelled in the year 1991.
TefaRuerar @ Y rawRarfaar o Ay 2 |

The policy of Non — alignment is the Policy of Opportunism.
faeq & ST fSTa goft qen <wfea e 9 aifdes o1 T Awar 2 |

World Bank can give more loan than its acquired capital and accumulated fund.

Y4 TH & /UH I H IR AITT— (5)

Answer in one word / sentence:—

(1)

(2)

(5)

IARDT BT YR A T 2?
What is the full form of UNESCO?
Y M DI FHoil [ Bl Il &7

What is called as the Key to the United Nations?

SERIGRT BT & Iga FIT 27

What is the main purpose of Liberalisation?
TRAT 2T BT FHET Foh TE?

Where was Indian peace keeping force sent?

dTeThe |HSICT Bd Gl ofT?

When was the Tashkent Pact signed?

U5 SISl IT— ()
3 g
() e gHsiar (31) HEpf® 3 — Yo
(i) SMFBIBRT @ uRe ufader o1 e
iy 1 TEEROr § qrn (@) TTE 1972
(v) HRPIIH IIRIDR] @) vue e fem § gRaaq
W) FedreRor € 9 ge

[130]-111

Page 4 of 8



.6

.7

.8

9.9

9.10

Match the column.
A B

(i) Shimla Pact (a)  Cultural Exchange

(ii) Modernisation (b)  No commercial restraints

(i)  Obstacle in Disarmament (c) July 1972

(iv)  Cultural Liberalisation (d)  Change in a definite direction
(v)  Globalisation (e) Cold war.

5% foraTed |usid &1 fhdl Ua ord aT ford |

Write anyone of the conditions of Nehru Liyaquat Pact.
sigar/ OR
Ser WS S @ W o
What was the demand of Tamil Speaking people?
IR TR & PIg &I URMH 18 |
Write any two consequences of Refugee Problem.
sigar/ OR
TRER Joot¥ T3 Ucd &I MIRd &1 fae 1 9l dwal Sfrar g7
Why Sarder Vallabh Bhai Patel is called as the Bismarck of India?
T T T BT 27

What is Judicial Review?

aezrar/ OR
Uy AR & deil @ A ford |
Write the name of members of Drafting committee.

e fRuer T &1 @ ek 22

What do you mean by ‘Non — alignment policy?
aierar/ OR

AT BT AT & T e 7

What are the objectives of establishing “SAARC”?

TR 3R IARBT & A HAIUE b PIs &I BRI 18V |

State any two reasons for differences of opinions between India and America.

srerar/ OR
ARSI DY IR H mAT?

How did Bangladesh come into existence?

[130]-1 Page 5 of 8
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.11

U.12

.13

U.14

.15

.16

fes a1 & ¥ IR fARwan Ry |

Write any four characteristics of Backward Classes.
s/ OR

JLYAT R B & Py IR I foIfey |

Write any four measures to remove untoachability.

IRA H AHIS AT HT ol BRI T 57

What is the root cause of social inequality in India?

srerar/ OR

3MMfefeh SIAATT §R B B WRGII WAGM gRT YA Ul BT qui & |

Explain the measures proposed in Indian Constitution to remove economic inequality.

AEHIRAT 3G Bl IFHeId] & Pl IR HRYT fARaU |

Write any four reasons for the failure of Co — operative Movement.

st/ OR
gl BT AT Sifa H T Ao &7
What is the importance of forests in human life?

N gJg & SRS o [A3gT HIRY | (@ aR)

Explain the reasons of the cold was. (any four)

sigar/ OR
T & RIgTdl BT Seeld BIfY |
Mention about the Principles of “PANCHSHEEL".

TefRueT MfRIe &1 Uil @ g2

What are the achievements of Non — Aligned Movement?
sigar/ OR

faeg 9% & s w1 B?

What are the functions of the World Bank?

RIS T SR GHsi & R UTaer aT o7

What were the main provisions of Rajiv Gandhi Jayawardhene accord?

arerar/ OR
it B IR TR RT 87

What is Tamil problem in Srilanka?

[130]-1 Page 6 of 8
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17

.18

.19

U.20

.21

U.22

ATGIHRYT b FHET B QTedl ATl aargd | (@)
Write a note on the challenges before Globalisation.

gerar/ OR
SMYABIHROT B TRUTST < §U ! fARIvad qargy |

Give definition of Modernisation and also write its Characteristics.

1Y GG ANT & 69 Ud IS9P TRd RIBIRe 1R garer Sifor | )

Throw light on the formation of State Re—organization Commission and its main recommendations.

srerar/ OR
PR TIRT R Uh ey IRy |

Write an essay on Kashmir Problem.

AT UGS AN & & ST BT qui BN | (5)
Explain the main functions of Madhya Pradesh Backward Class Commission.

sigar/ OR
PBIRT PHITADR ATANT DI AT BT g I |

Explain the recommendations made by Kaka Kalelkar Commission.

IRA ¥ &d1E & &I B HRON BT g0 & | (5)

Explain the causes of rise of Regionalism in India.
srar/ OR

fReRar fawr # <1 arm 2| ¥ BIRTT |

Clarify that illiteracy is a big hindrances to development.

T 3feTe™ & HRUN &I ARAT HIFTY | (5)

Explain the cause of chipko movement.

st/ OR
AEBIRAT & eIl BT quid DI |
Discuss the objectives of Co — operative Movements.

TR facer DT &1 uwifad =4 arel d@l a1 fAade=r ST | (5)

Explain elements affecting India’s Foreign Policy.

serar/ OR
RIS IT eeN IR a-Ta—3fred & U9Td &1 fader I |

Discuss the effects of ‘Détente’ on International relations.

[130]-1 Page 7 of 8



¥.23 WA AT @Y magaddr & fades T iy |
Discuss on the need of making constitution.

aerar/ OR

YR GiAe™ & g Sl @ [Gaa=T HIfog |

Discuss the main sources of the Indian Constitution.
Y24 HIH G FE B I BT g0 B |

Explain the objectives of the United Nations Organisation.

srerar/ OR

OO\

fI9IR=NHYOT BT IAHIdl D PR BT Soold DI

Mention the reasons for failure of Disarmament.

[130]-1 Page 8 of 8
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Total No. of Questions: 24 Total No. of Pages: 08

TR FHUsS], TNl 2016

140
fawg : srefeme
Subject : ECONOMIC

| : 03 HUC quries : 100
Time : 03 Hours Maximum Marks : 100
A& — () G geT e &

(i) 797 97 H 7% 73 [ G qdd GeHY Fe » GV dord |

(i) F¥T FHE 1 G 5 aF TG0 Fe7 &7/ forae s=aiia @&l [eey g7
@Il T e W&/ Terd, Gigl §9T i v & areg F forger &/
J&® J97 & 5 3d &/ FUHeT G¢ & Sidd &/

(iv) Fo7 HFIF 6 & 24  3TaRe Rdeq T 73 &/

(v) T HHH 6 & 10 TF FdH F97 GV 2 3% 3aied &/ g AT TTHT 30
g RBTT &/

(Vi) FIT FHIF 11 F 17 TF FdFb J97 GV 4 3 3aicad &1 s Har T
75 — 120 95 B TH 8/

(vii) FIT FHIF 18 & 22 TF FdH ¥ GV 5 3 Jalcad &1 Isq AT T
120 — 150 17 3RIHBTHT &/

(viii) FFT HHF 23 & 24 TF FAF FIT GV 6 3p Jaied &/ I WG TrHT
150 — 200 17 3EHTT &/

INSTRUCTIONS: -

[140]-111

(i) All questions are compulsory.

(i)  Read the instructions of the question paper carefully and write their answers.

(iii) Question Nos. 1 to 5 are objective types which includes choose the correct
alternative, fill up the blanks, True/False, Match the column and Answer the
following in one word/sentence: Each question carries marks and Sub question
carries 1 marks each.

(iv) Internal options are given in question. no. 6 to 24.

(v) Question no. 6 to 10 are allotted 2 marks each. The word limit is 30 words
maximum.

(vi) Question no. 11 to 17 are allotted 4 marks each. The word limit is 75 - 120
words maximum.

(vii) Question no. 18 to 22 are allotted 5 marks each. The word limit is 120 - 150
words maximum.

(viii) Question no. 23 to 24 are allotted 6 marks each. The word limit is 150 — 200
words maximum.
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94 el fddeu g —

Choose the correct option-

ANTTAS ST BT AT T o

(i

(i)

[140]-111

(d)

FHRE 37efeA
fte Jefems
el

HIg el

The second name of Economics is-

(a)
(b)

AT B IMMER TR TTAR BT oo UHR H g

(d)

On the basis of time market is classified into

(@)
(b)
()
(d)

o

Macro economics
Micro economics
Both

None

o~

I

19

urd

Two
Three
Four

Five

CAS|

(d)

& IUART Wl Bl Hel SIdl o—
st e

LRICEIRCARDE]

GIGIAEL]

Afde e

The consumption function of Keynes is called-

(@)
(b)
()
(d)

Scientific Law
Psychological Law
General Law
Ethical Law

Page 2 of 8
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(iv)

BT 9 e ffaa et 27

(a) ARG d&
) R4 d®

c) VEBN 9%
(d) I

Which Bank issues currency?
(@) Commercial bank
(b)  Reserve Bank

(c)  Co-operative

(d) Al

faRaife fa faa & 27
(@) Prel ORI

b) RR FF

c) 9IS

@ IR

Who gave the Rank difference method?
(a) Karl Pearson

(o) Spearman

(c) Bowley

(d)  Fisher

g2 R el #1 gfd sifom—
Fill in the blanks-

[140]-111

G | At A TR B
Car and Petrol @re .......o.ieieii e items
CHIC L S I B ||
Market price iS the ... price
GRE BT I e & A qATT T |
Law of supply refers the relation of ...,
rfSmaH ATIRTG o™ & RIGIa &1 UfauTe o = o |
The theory of Maximum Social Advantage is propagated by ......................

G Es B2 I K LN R =1 B 2 |
Employment theory of Keynes is ..o term.
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U3 Sl g990—

(i)

(ii)
(i)
(iv)
(v)

(1)

ISR T fAgiRor
qaT THIf

T P

IRESUED

NP hl AT AY

Match the columns-

(v)

(a)

Determination of employment
Inflation

Direct tax

Index Number

Income Expenditure of Government

Y4 TP I /0 H IR SIOT0—

Answer in one word/sentence-

(1)

()

(5)

fifth awqq @ g 27

What are the Griffin commodities?
IR w91 {6 YR &1 qaT 27
Which type of currency is Indian rupee?
goie fas af & forg q=man Smar &7
For how many years the budget is made?
Joic @1 Ua faemar falay |

Write one characteristic of budget.

fdeies fhds YR & BId &7

How any types are there of Index nos?

U5 I /3 forRad—
Write True/False-

ITE ATIR < 6 AHT A 9181 8T 2 |

(1)

(2)

[140]-111

National trade is out of the limits of country .

()
@)
(@) H&T @ 9131 4 ghg

(b) M X
(c) UHTEYel AT & R
(d) Tora

(e) 3mffe SRR

(b)

An increase in the quantity of money.
Income Tax

By the effective demand

Finance

Economic Barometer

()

()

§¢ SR BT =Y < W bIs e G Tl BT |

Closed economy has no economic relations with other countries.
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.6

.7

us

U9

v.10

3) P §b I BT b B |
Central Bank is the Banker’s bank.

(4) TSI 3PS @ ¥ T8 B |

Public finance is not a branch of economics.

(5) IO AT Aad—wgferd I8dl ¢ |
Balance of payment is always in balance.

HRT T4 3Maedhdl § Bl gl 3R fIlRau |

Write two differences between Demand and necessity.

Y41 /OR
gfet &1 31ef forfRey |
Write the meaning of supply.
ufey fad | a7 st 2°
What is meant by per capita income?
Y41 /OR

T AT BT AT B A Y & I < v ey |

Write any two factors of income method to calculate National Income.

g9Tqqef ART &7 31ef foriRey |

Write the meaning of Effective Demand.

341 /OR
FA AN A FIT T B2
What is the meaning of Aggregate demand?
g1 faffraq &1 " 2| 9Hsmey |

‘Money is the medium of exchange’. Explain

341 /OR
HaT WHIfT BT 37ef qHSSY |
Explain the meaning of Inflation.
g9 fge @ <1 o7 faRag |
Write two merits of Standard Deviation.
3T /OR

foR & < 2y faRaw |

Write two demerits of Range.

[140]-11 Page 5 of 8
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.11

U.12

.13

.14

.15

.16

THfte 1o &1 =R fagam ey |

Write four characteristics of macro economics.

311dT /OR
fte 3P Ug FHfe e § AR 3R 91y |

State four differences between Micro and Macro economics.

qut wfyafTar vd erqol gfeRifrdT # =R iR iRy |

Write any four differences between Perfect Competition and Imperfect Competition.

34T /OR

ISR H{ed Td 9H=I Jed § aR 3R forfey |

Write four differences between Market Price and Normal Price.

UF G&T & dR T oy |
Write four merits of paper money.

34T /OR
&1 I & TR BRI QY |

Give four causes of Inflation.

AR [ Qd YA dgerd H aR 3R forfey |

State any four differences between Balance of trade and Balance of payment.

3dl /OR
I U ORI AR | IR FaR foRay |
State any four differences between National and International trade.
RIS BT AMYFIh T § Heed 93¢ | (1 IR fawg)

State the importance of public finance in modern age. (Any four points)

34T /OR

e B B IR 0T fIRag |

Write four merits of Direct taxes.
AT fa=rel & &1 0T gd &1 ]9 forfay |

Write two merits and two demerits of mean deviation.

311dT /OR
e &1 #8@ 9aisy |

State the importance of Index numbers.

[140]-11 Page 6 of 8
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17 IR I9 W ®T I 27 39T faang fiRkay | (@)

What is meant by Base year? write its characteristics.

3AdT /OR

JYFHYUT & I Ud HAgcd 9adTsy |

Write two objectives and two importance of dispersion.
918 HART &I @ld B YAIIIT B arel Ufd dca foIRag | (5)

Write five factors affecting the elasticity of demand.

4T /OR
gl @1 drg & gAIfad B drel ard dd forfRag |

Write five factors affecting the elasticity of supply.

719 T 3 Gl YUl T Hecd W Iy | ()

Describe the importance of National Income Accounting System.

SIdT /OR
IRA H IR g &1 84 IfG & BRI I8 |

State the causes of slow growth in National Income of India.
U420 ISR & WORMEE! RIGd iR 39 @ IR Rigid # U9 sfdr Wt SIfY | (5)

Describe five differences between classical theory of employment and Kensian theory of

employment.
IAdT /OR
][ A6 & g HROT forfReay |
Write five causes of deficit demand.
¥21 doic & Ugd Ie folkay | ()

Write main objectives of Budget.

3AUdT /OR

goic & W UPR oIy |

Write main types of Budget.
g22 FCEN® 1 @1 B G T FWiEaEEl @ A1ey? (Blg 5 ) (5)

What precautions must be taken in construction of Index Number? (Any 5 Points)

3AUdT /OR

g Y B JIIT BT H8d (oIRgu |

Write the importance of studying correlation.
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Y23 " & 99 & Gfs IR i |

Describe the law of demand with diagram.

31eIdT / OR
HART Bl JATfad HRA a1l 6 acd foTRav |

Write six factors that effect the demand.

24 e sffeet @ IR &1 amesl e sra Sifou—

9 e Dy WR
1 | 1 A 1 HIA
1985 4 50 3 10 5
1986 10 40 8 8 4
Calculate Fisher’s Index No. from following data
Year Rice Wheat Jwar
Price Quantity Price Quantity Price Quantity
1985 4 50 3 10 2 5
1986 10 40 8 8 4 4
3T /OR
1 SRl 3 Sl ofeR fafer gRT We—dae U A1 difoTi—
X 73 72 71 70 69 68 67 66 65
Y 125 | 130 |[135 | 140 |[145 |150 | 155 |160 | 165

Calculate co-efficient of correlation by rank difference method from the following series-

73

72

71

70

69

68

67

66

65

125

130

135

140

145

150

155

160

165

[140]-111
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Gl T DI G : 24 HA IBI B F=AT : 11
Total No. of Questions: 24 Total No. of Pages: 11

TR AUy, TET 2016

150
fawg : g

Subject: MATHEMATICS
(Hindi & English Version)

|HY : 03 TS quTids : 100

Time : 03 Hours Maximum Marks : 100

[ — () & 5o g &/
(i) JRAF g7 Y¥ JEaed dF 9GF THE 3 T4 &/
(i) F¥T F. 01 & 05 TF FegI+0 F97 &/

(iv) Fo7 . 06 & 24 T 3=IR% fAdey o3 713 &/

INSTRUCTIONS: -

(i) All the questions are compulsory.

(ii)  Marks are given in front of each question.

(iii)  Question from 01 to 05 are objective type questions.

(iv) Options are given in question no. 06 to 24.
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gvs — 3

SECTION- A
94 el fddeu gaax forar — (1X5=5)
Choose the correct answer -
() 3t L _ A LB arqracikB @ AN BR-
(x+4)(x+6) x+4 x+6
@ A=), B=Y @ A=), B=Y
@) A=2 B=-2 @ A=-2 B=2

If , then the value of A and B are -

= +
(x+4)(x+6) x+4 x+6

@ A=Y, B="Y ) A=V B=1}

© A=2 B=-2 d) A=-2 B=2
(i) TP \RaT BT 3felT TR YT HHI: 3, 4, 5 © d9 ¥ET DI AT BN —

@ 12 @) 50

@) 5V2 @ 25

The projection of a line segment on the co — ordinate axes are 3, 4, 5 respectively, then the
length of the line will -
(@) 12 (b) 50

(€ 542 d) 245
iy AR +] P TR Ubid AR & —

+
@) i+ @) VJ2+42
The unit vector parallel to the vector f+] is -
(a) l+i (b) L_‘_L
2 2
(€) i+] (d V2+42

[150]-11 Page 2 of 11



(iv)

d—dXSGCX dNTeR 3‘ -

(3 tanx @) sec’

(d) tan’ (]) secxtanx
d .

—sec x is equal to -

dx

(a) tanx (b)  sec’

(c) tan’x (d)  secx tanx

=g X A | 10 BT ITHA A BRI UR UH JGRT oA & —

@) 2 @ 3
(&) 25 @) 275

To find cube rot of 10 by Newton Raphson’s methods first iteration root is-
(@ 2 (b) 3
(cp 25 (d 275

g2 R el 31 gfd sy —

Fill in the blanks -

(i)
(ii)

(i)

[150]-11]

SIN 7T (AXTX BX) = woeeee e,

Xz - TITA BT THDBYOT oo, BT |

The equation of plane Xz is .......cccovveiiiiiiiiiiiien

qrfae 3?+2]+9R 3R T+a]+3RQ:IH TR B W@ = e

If vectors 3i + 2] +9Kk & i+ a] +3Kk are parallel then the value of a'is ............

qof HAEHGT B TR QAT FHBRIVT YWY URTIR oo

In perfect correlation both the regression lines are............cccoooviiiiiiiinnnnn,
RiR G A R2 e IS I CINe BT R T 1< BV B )1

The coefficient of old subscripts y in Simpson’sruleis ...........coooviiiiiinnn.

Page 3 of 11
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U3

U4

1 peEl I/ 3N 9T — (1x5=5)
State true or false -

(i) el ey +Z2+2ux +2vy + 2wz +d =0 P dw D [AQIAD (-u,-v,-w)%l

The co-ordinates of centre of the sphere x*+ y? + z° + 2ux + 2vy + 2wz + d = 0 is (-U, -V, -W).

(ii) a4 sin”!(sinx) = 0.
X
(i) f(x) = sinx + cosx, X :% TR AEH B |

. : : T
f (x) = sinx + cosx is maximum at X :Z .

(v) e Yoed A ¥ AHaRT fx) = 0 &1 HEdH |fde JA x, & dl

_ f(x)
Xn = X(n+1) _Txn)

The approximation root of equation f(x) = 0 by Newton Raphson method is x, then

(¥
(n+1) f,(xn)

(v) XTI Bl Al & 89 O Ho S BR Ahd & |

Xp =X

We can find the square root from Regula Falsi method.

o & IS BT UH TG AT qrRT H IR AR | (1x5=5)

Give the answer in one word/sentences.

(i jdx HT 7 foRaY |

1+x°

dx
1+x?

i)y T (2, 1, 3) A ToRe drell 1 | U (1, 3, 2) dTell TRA I@T BT FHIHI
foRaa |

Write the equation of a straight line which passes through point (2, 1, 3) and whose direction

Write the value of I

ration are (1, 3, 2).
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b
(i) AR YOI M H h BT AN — jf(x)dx:%[yo+2(y1+y2+ ........ Y nat) + Yol
a

(v) M x 3R y 31 WA =R & I AgHad U Bl A ol |

If x and y are two independent variables then write the value of coefficient of correlation

between them.

(v) o A a, b, c ® GEI B @ I fIRay |

—

Write the condition of three vectors 5, b, c are coplanar.

U5 ol ol 9918y —

3

(i) j sec x dx

(ii) .[cosecx dx
(iii) j tan x dx
(iv) j cot x dx

(v) jl dx

X
Match the column —
A
(i) j sec x dx
(ii) .[cosec x dx
(iii) j tan x dx
(iv) j cot x dx

(v) jl dx

X

[150]-11]

<)

GNE)

)

(1X5=5)
q
log [tan %J
log {tan (2 + %ﬂ

log (sin x)

log (sec x)

loge X

B

o 3]
o 33

log (sin x)

log (sec x)

loge X
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YUs — 3] SECTION - A
U6 WAMREY 3i+3j+k AAT -2i+ j+2k & INT & FANKR ShHls AR AT DI | @)
Find the unit vector parallel to the sum of vectors 3?+3]+R and -2i + ]+2R.
317d1 / OR
I a=2i-3j+k 3R b=3i+2] B8 A axb FTd HITY |
If 4=2i-3j+k and b=317+2] then find axb.
97 afd a20,b=0 3R ‘é+5‘:‘é—5‘ﬁﬁﬁl@3ﬁﬁiﬁﬁi d 3R b TR oaq 21 (2)
If a0, b#0 and ‘é+6‘=‘é—6‘then prove that @ and b are mutually perpendicular.

31fdr / OR

FARR TGS BT &Fhe 1 DI RTAD &1 IRy ezl a=2i- j+k 3R
b=3i+4]-k3 frefid 2|

A

Find the area of parallelogram whose two adjacent side are a=2i— j+k and b=3i+4 3 -k.

u8  =(i+4i-2k) + tlir2i-2k) R F=i-7j-2k + s{+3j+2k) & G BF g @
ST BT | @
Find the shortest distance between the two straight lines-
F=(Bi+4j-2k) + t(i+2f-2k) and T=i-7j-2k + s(i+3j+2k)
31e0dr / OR

(N

wHae 7.(21-3j+4K)=5 a2 7.(1+])=4 B HEA BT BT TG B |

Find the angle between planes r . (2? ~3j+ 4R): 5andr. ( i+] ): 4

[150]-11 Page 6 of 11



U9

v.10

.11

jSi:‘/%; dx BT AT ST BT | @)
sin/x
Ix

dx .

Find the value of j

3Idr / OR

j dX 1 o+ ST B |
1-sinx

dx
1-sinx

Find the value of I

[L0092X gy opr e ST I | )
1+ cos 2x

1-cos 2x

Find the value of I1+ 052
X

3Idr / OR

Ixcosxdx BT 99 ST BT |

find the value of fx cos x dx .

ST FHSIIUN NI X + 3y = 11 3R 2x +y =7 & AR W x T y & 919 GeAad 0NH 1
BINTY | y =47 oY x & A B TUFT B | (@)

Find the correlation coefficient between x and y on the basis of two regression lines x + 3y = 11 and

2x + y = 7. Calculate the value of x when y = 4.

31fdr / OR

x AR y & =R & foIg 5 YeToll & MR WR 4+ 3ifdhs Ured g7 —
¥x =15, Xy = 25, »x? =55, Ty® = 135. ¥xy = 83

HATSIT NEY S DI |

For 5 observation of variables x and y the following results are obtained-
X =15, Ty = 25, ¥x? = 55, y® = 135. £xy = 83

Find the equation of lines of regression.
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g12 fr=feiRad sifdel ¥ Wewdd N Sd DI | (4)

@
Xx |3 |4 6 8 9
y | 90| 100 | 130 | 160 | 170
Find the coefficient of correlation from following data:
x |3 |4 6 8 9
y | 90| 100 | 130 | 160 | 170
31qq1 / OR

(N

R x AR y & &I & =B Al & oIy T8 AR BI TET I |
(1, 10), (2, 9), (3. 8), (4, 7), (5, 6), (6, 5), (7, 4), (8. 3), (9, 2), (10, 1).

Calculate covariance for the following pairs of values of variable x and y.
(1,10), (2,9), (3, 8), (4, 7), (5, 6), (6, 5), (7, 4), (8,3), (9, 2), (10, 1).

T3 f(x)=cos x +sin x B ANIA 0 < x< 7T H s g A 99 F1d SRR | @)

Find the maximum and minimum of the function f (x) = cos x + sin x in the interval 0 < x < 7.

3Idr / OR

B9 & gaIqel @l BT V2 A /Hdvs B R | 96 I8! © | 99 gagal DI ESAr 1 9.
B 79 gAgel & I H URade &I &R A BIoTY |

The radius of an air bubble is increasing at the rate of %2 cm per second. At what rate the value of

the bubble is increasing when the radius is 1cm?

714 R K =Y B o Rig g s W o 100X (@)

dX  (1+logg X)?

If XY = e Y, then prove that dy =Iog—ex2

dx  (1+loge x)

3Ad1 / OR
) - SRt Y1
gfe y—\/logx+\/logx+\/logx+ ................. g a1 g fb o x(2y—1)
] - o1
If y_\/logx+\/logx+\/logx+ ................. then prove that ax x (2y —1)
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.15

.16

U7

.18

sin”1| 2% |1 x & wrter sraeer B | (4)
14 x2

Differentiate sin_1(2—xzj with respect to x.
1+x

3d1 / OR
Ife y=tan‘1[1+smx}ﬁﬁ Y 1 79 G AR |
cos X X

d

If y = tan~" 1+sinx
COS X

} , then find the value of ﬂ .
dx

Ig HI b sin‘1%+cos‘1%:cos‘1% (@)

Prove that sin”’ § +cos”! E =cos™! ﬁ
5 13 65

a1/ OR

iq;g Eﬁ i;—l!] tan_1L2_-I:1 -1

—tan ' x
X

V1+x2 -1

Prove that tanT ———— =—tan" ' x
X 2

X _ o1 a1l Rl # e I | (4)

1-x3

X 3 in to partial fraction.
1-x

Resolve

3rerar / OR
g‘ziﬁ e A= & gad BT |
X< +2x-8
x2 +7x

Resolve - in to partial fraction.
X< +2x-8

Rrg AR fp xgrg XH_Y*3_2+45 oy X_2=y_4=2;6 RER ylaese &dl 2,

3 5 7 1 3
gfaees fdg & Mdene ad SRR | (5)
Prove that the lines <! — y;S = 2;5 and X;2 = y;4 = 2;6 are intersecting each other. Find

their point of intersection.
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31fdr / OR

S NE@Ri & 41 B BT Gd IR, el [Re—aag fFreifed aHieel gxR]
iR g —

3l+m+5n=0, emn-2nl +5im =0

Find the angle between the lines whose direction cosines are given be the equations —
3l+m+5n=0, émn-2nl +5im =0

. ox(@E® =D
919  lim ——— T A ST I — (5)

Xx—>0 1-cosx

X
1
Find the value of  lim & =1
Xx—=>0 1-cosx

31e0d1 / OR
afe f(x)=ﬂ,x¢0?ﬁ f(x)Bx=0 TR AT B faaer ST |
X
It f(x)= % x # 0 then discuss the continuity of f(x) at x = 0.
X
U420 TR y? = dax 3R YT y=mx & 419 BT STH AT DI | (5)
Find the area enclosed between the parabola y* = 4ax and the line y = mx.
317d1 / OR
T 2
g a? cos? x +b2 sin?x  2ab
T 2
Prove that : J O xax I T
pa“cos” x+b“sin“x 2ab
y21 argde wleRer Yo XHY 3 e Ry (5)
dx x+y+3
Solve the differential equation: dy = X+y-3
dx x+y+3
31e0dr / OR

THET AHIBROT x+yd =2y B & DI |
. . . dy
Solve the differential equation x +y o 2y.
X
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U.22

.23

U.24

Tl YATPR T U A1 Bd OIld &, Il U R fA9H G=r 3@y g1 Uil & SR
TR BT IRT 9 UTa B dl WIRIGAT S BTy | )

Two Cubical dice are thrown simultaneously. Find the probability of getting an odd number on the
first dice or a sum 9 on both the dice.

341 / OR
T DT 6 IR SO SIIdl & HH I b9 3 Y 34 7 Urfepdr si1d I |

A coin is tossed six times. Find the probability of getting at least 3 heads.
wfeer Ay & Rig IR 5 — ®)

sin (A+B) = sin A cos B + cos A sin B.
Prove following by vector method—

sin (A+B) = sin A cos B + cos A sin B.

317d1 / OR
gfew fafsr @ e HIvy —
cos (A+B) = cos A cos B - sin A sin B.
Prove following by Vector method —

cos (A+B) = cos A cos B - sin A sin B.

I el BT FHIHIUT =1 dbior S fa=gait (1,-3, 4), (1,-5, 2) T (1,-3, 0) ¥ BIHR

ST B, 927 AT Bre AT x+y+2z=0 TR R 2| 6)

Find the equation of the sphere passing through the points (1, -3, 4), (1, - 5, 2) and (1, -3, 0) whose
centre lies onthe planex +y + z= 0.

3Idr / OR

g (1, 2, 3) &7 ¥ Xfﬂfﬁ;%q%ﬁwamaﬁﬁm

X-2 y-3 z-4

Find the image of the point (1, 2, 3) on the line 2 5
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Gl T DI G : 24 HA TSI B =T : 08
Total No. of Questions: 24 Total No. of Pages: 08

BRIR ADUSY, U8 2016
166

favg : g e
Subject: SOCIOLOGY
(Hindi & English Version)
|HY : 03 TS quTids : 100
Time : 03 Hours Maximum Marks : 100
R — () & geT st &
(i) F¥T HHEH 1 G 5 T TG0 J97 &/ 9T & ford 5 3% [T &/
(iii) Fo7 HHH 6 & 10 TF FAF F97 & forv 2 3 [FEiRa &/
(iv) Fo7 HFIF 11 @ 17 TF JAF F97 P o7 4 3 [T &/
(v) FIT HHF 18 @ 22 TF JAF F97 P o7 5 3 Fe/Ra &/
(vi) T HHIF 23 & 24 FAF FI7 & o0 6 3E [FERT &/
(vii) FIT HHH 6 & 24 TF TH gII § s Reey v 74 &
(viii) FRT F¥T B [or7 AT dF F¥7 B TG 3ifHd &/
INSTRUCTIONS: -

(i)  All questions are compulsory.

(i)  Question Nos. 1 to 5 are objective type questions. Each question is allotted 5
marks .

(iii) Question Nos. 6 to 10 are allotted 2 marks each.

(iv) Question Nos. 11 to 17 are allotted 4 marks each.

(v) Question Nos.18 to 22 are allotted 5 marks each.

(vi) Question Nos.23 to 24 are allotted 6 marks each.

(vii) Internal options are given in question Nos. 6 to 24.

(viii) Marks allotted to each question are mentioned against the question.
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9. 1 W8I fddeu grax forfau—
Choose the correct option.
(1) WRd ¥ ST den v qedd & oigd Bl AW 3—

(31) SNTEE
@) ®TAFMESA

(@) SrdgEs
(8) vadigy
The name of the writer of the book caste and class in India.
(a) G.S.Ghurye
(b) K.M.Kapadia
() D.P.Mukerjee
(d)  S.C.Dubey
(2) W9Rd DI TAT GAM o] g3—

@) & 1947 W

@) &9 1950 A

([) |7 1961 A

(@) 9711952 9

The New Constitution of India was applied.
(@) From year 1947

(b)  From year 1950

(c)  From year 1951

(d)  From year 1952

(3) RGN FHNST & eI & foly fh¥ ofgd 1 IR SUNTHE & Seerd fhar?

@) uwHyAsT M
@ #fea ARee
(@) v

@) = '

To study Indian society which author has the four approaches?
(@)  M.N Shriniwas

(b)  Mekin Mariat
() S.C.Dubey
(d)  Yogendra Singh
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@)

YRA H THdl y=adi Irom {69 9y q_) gs?
(@1) = 2007

(&) =& 2006

(9) & 2005

() 9 2008

In which year the 10" five year plan completed?
(a) year 2007

(b year 2006

)
(c) year 2005
(d)y year 2008

=it § & o A e <207 e FHre @ faRivdr 78 57
@) T Rrew o1 faer

@) 9 A= H SdTeA

(@) <fddmTa o™ & wfa

(&) T3 YrEnfret &1 SuhNT

Among the following which one is not a feature of Industrial Society?

(a) Development of handicraft

(b)
(c)  Tendency of personal profit
d)

(

Production of large scale

Use of new technology.

g2 Reaq @l &1 gfd $ifoe— ()

Fill in the blanks of following:-

(1)

@)

[166]-II1

AT 2001 BT SITOET & AR AR H G SATAT DT STAGEAT......... o |

As per the census of 2001 in India the population of scheduled tribes were..................
WAH R ¥ 275 STRITHR R T H ariRa far |

In Independent India Hindu act was passed in the year......................

ART B YGaATR TS Herooe gH DI A dlel AN I5AETD o |
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U3 el oiel 9918y — (5)
(1) dE9H AR (1) =g <xre
() Sira™ Prs¥e () g ud
(@) fugre (B8) T U AR
(4) o7 <a (4) O e
(5) wfET R (5) dlg e
Match the following:-
(1)  Vardhaman Mahaveer (1)  New Testament
(2)  Jesus Christ (2)  Christian Religion
(3)  Siddhartha (3)  Guru Granth Saheb
(4)  Arjun Dev (4)  Jain Religion
(5)  Martin Luthar (5)  Buddha Religion

g4 fr=faRad vl & Sax & v # forRad— (5)
Answer the following in one word.

(1) oM I & MU fhas Bi?

Who was the founder of Arya Samaj?

(2) WreTd TVl S HAlSH SfSAT KD & gD BT A HIT 57

Write the name of the writer of the book “Social change in Modern India”?
(3) Hicigore™ 3 SfSTT TERM (MRAR URFRT &1 IAYFHIHION) & oRgd Bl M

R 8?7

What is the name of the writer of the book Modernization of India Tradition?
@)  uRaR® AR BT a9 ATGT A I AT 27
Which means of entertainment is most popular for family?
(5) Waw, geTIC AT SAIhIA ikl Giawmel & fe aFf § |afferd vd 27
In which category facilities like Fax, Internet & Telephone are included?
g5 freifea sl § 99 /38 9agd — (5)
Say True or False of the following :-

(1) 9% URI & HeRawd THOT &R H T Y A9 93 BT UgHIa 53T |

The New middle class arised due to the result of land reform in rural community.
(2) YRA # A IR & UfhaT | 1935 ¥ URHT T8 |

The process of land reform started in the year 1935 in India.
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U.6

.7

us

U9

v.10

3) SiemfieERer & 997 TRIGIT Fva &1 BT |
Urbanisation is not possible without industrialisation.
(4) WRa ¥ I 9 H B RAUAT 99 1974 H DI TS |

National seed corporation was established 1974 year India.

(5) WRA H ITRIGHROT BT UfhdT BT Yd T H3Al TRIRTET MG F ARA T |

The process of Liberalisation started by the ex-prime minister Narsimha Rao in India.

IRA ¥ ofd Faas @ e feas ar?
Who established the Shanti Niketan in India?
3UdT /OR
IRA & gd H fFgall &1 39 |1 ugE el e 27
Which of the Hindu pilgrimages is situated in the east of India?

S U < ot & | a8 uRqmT fhas €17

Caste is a closed class. Who gave this definition?

3IdT /OR
SHIfR®T TTeq BT TANT F9 g fhd e 9 fhar?

Which author used first the word Demography?
IR IURMI & 4 forRay |
Write the name of four approaches.

3AdT /OR

SUNTH BT 31T T 872

What is the meaning of approaches?
URAR, TS TAT AERI §RT &1 ST dTell e &1 &= A1 R wgr Sar 287

What is called the education provided by the family, neighbour and kinship?
IAAdT/OR

A T H ARG ad aRad BT Fad YHEayel |eE R/ 5?

What is the most effective means of cultural change at present?

I Tl H e ST H A GUR AR 3R fhar?

Who started the social reform movement in Bengal in Nineteenth Century?
3UdT /OR

IRA § IHGWT e &1 RIuAT fhas o1?

Who was the founder of Ramakrishna Mission in India?
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g1

U.12

.13

U.14

.15

U.16

ARG T B A =~1ar & vapar 9 Geferd ara a@l &1 fader oo | (4)
Describe the five elements of unity in diversity of Indian society.

3dT SOR
ARA faf=1amt &1 <91 8?7 <A1 ST |

Describe India is a country of diversities.
IRT H SHIfPHI BT BIs IR fadvan falRay | (4)
Write any four characteristics of demographic in India.
341/ OR
IRA H SHEI gfg @ By IR HROT IR |
Write any four causes of population growth in India.
TR FETT @ H18 ud favan aofF s | (4)

Write any five features of urban community.

IAdT /OR
YT AT BT Blg Uid fARyard quie B |

Write any five features of rural community.

1S faare & 3Is IR fALdvan foaRka |

Write any four characterstics of christian marriage. 4)

3AdT /OR

feg vd gRe™ faare # 3Is 9 SR oy |

Write any four differences between Hindu & Muslim Marriage.

A AR H e favg iR gHererE okg forRaw | (4)
Write a sociological article on * Education in Independent India’.

34T /OR
TRT § Iy e N &1 fada=r S|

Explain the national education policy in India.
RFHIHROT B AR TAT YHE Uig faRiarg forf | @)
Write the concept and five main features of Westernisation.

347 /OR
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JEIRNHRUT & 31f B W HINTY? WRAT TS Bl SHERfiax 7 fha dvg ywifad
fpar &7
Explain the meaning of industrialisation? How Indian society is affected by industrialisation?

Y17 SFNAR @ AEAED © ARAT ST | @)

Discuss the main means of mass media.

30T / OR
TRAT FaTeT | e 9 Wefdd s g gawy forlRay |

Write any five problems related with education in Indian society.

918 @ &1 e forad gy Sifar dor ol # sfaR forRay | (5)

Write the meaning of class and difference between caste and class.

3AAdT /OR
SIS BT 37ef oI Wi faermarg forfey |

Write the meaning and main features of Tribes.
U419 ARA ¥ T AW $ UIcdTEd I d9Tel YW SMERI HT auid Hifor | (5)
Explain the main basis of composite culture in India.
3UdT /OR
Hgad gRar & o7 Ud QI forRay |
Write the merits and demerits of joint family.

20 YRd H Y AGPT Bl BIs IR FHATG IRy | (5)

Write any four problems of minorities in India.

34T /OR
IRA H T Sofadl & $Is IR Gy fotlRed |

Write any four problems of schedule tribes in India.

21 9Rd H A & Bls IR IGay faalRad | (5)

Write any four objectives of planning in India.

Y41 /OR
IR A9 gRT & T Aifore iffeRi &1 deu # fale |
Write in short the fundamental rights given by the Indian Constitution.

.22 FHINTD STl B JTURYT AT aT favyan foRay | (5)

Write the concept and two features of social movement.

[166]-11 Page 7 of 8



3AAdT /OR

AHINT® 3TfaTel @) Idfcd & Agifdd R T 57
What are the theoretical basis of the origin of social movement?

¥23 50 & YIE MR RT &7 6)
What are basis of state?

34T / OR
Ifod, FedT, 3R FATST & g&el b forRau |

Write relation between Power, Authority and Society.
U24 YA YUR e R ey ke | 6)

Write an essay on Land Reform Movement.

3edT / OR
JIAHRoT BT 312f Ug fa9varg forfay |

What is the meaning of Globalisation and write its Characteristics.
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168

fawg : sv—arsa weH:, isrcrel goe oA (bar W)
Subject: Anatomy , Physiology and Hygiene (Art Group)
(Hindi & English Version)

quiies : 75

Maximum Marks : 75

fAaser —

(1)
2

(3
(4)
(5)
(6)
(7)
(8)

wft g7 ST &/

T FHHIE 1 & 4 TF JAE J97 GV 5 & J@icd & T F4H FIHeT I¢
1 3% 3ared &/

¥ HHIE 5 @ 8 GF FAH FIT UV 2 3 Jrared &/

o7 HHIE 9 @ 13 TF FAH F97 UV 4 3% Jrared &/

o FHIE 14 ¥ 16 GF JAE F97 GV 5 3% Faed &/

geT HHIE 17 & 18 GF FAF J997 4¢ 6 3F Iyraied &/

e FHIE 5 W 18 GF JAFE g¥7 § Qwey 29 14 &/
HTTEIHATEN W&o (9 THidd 347 §757 |

INSTRUCTIONS: -

[168]-II]

(1)
2

(3
(4)
(5)
(6)
(7)
(8

All questions are compulsory.

Each question from question Nos. 1 to 4 carries 5 marks and each - sub
question carries 1 mark.

Each question from question Nos. 5 to 8 carries 2 marks.

Each question from question Nos. 9 to 13 carries 4 marks.

Each question from question Nos. 14 to 16 carries 5 marks.

Each question from question Nos. 17 to 18 carries 6 marks.

Internal options are given in each question from questions Nos. 5 to 18.

Draw neat and labelled diagrams wherever necessary.
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U1 el fdden gaaR foria—

Choose the correct answer-

)

@)

(%)

[168]-11

feArefas arar AT g—
(i) ATel Xad HioTd

(i)  Zdd YT BIVTPT

(i) fowaTO] H

(v) oARIPHT H
Haemoglobin found in -

(i) Red blood corpuscles
(i)  White blood corpuscles
(i)  Platelets

(iv)  Lymph

g6 B $HUR YR S arelt Aot fage ufer 8-

() oRRTsS

(i) URTeITERISS
(i)  ITgID
(v) I

The Ductless gland situated on the kidney is -
(i) Thyroid gland
(i)  Parathyroid gland

(i)  Adrenal

(iv)  Thymus gland

THAT I fhaar HH A BT 87
(i) faerfFm—v

iy faerf=a—<r

(iiy  faeHa—-dr

(v) faefa—3r

Scurvy is caused by the deficiency of -
(i) Vitamin ‘A’
i)  Vitamin ‘B’
i)  Vitamin‘C’
iv)  Vitamin ‘D’
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@) fora Hemad ygrt & il &1 yerard gar 8-

()  ATSIEE dod
(i) <oPH USSR
(i) WA <A
(v) ore 99

Which aduterant causes paralysis of legs .
(i) Argomone oil

(i)  Talcum powder

(i)  Khesari dal

(iv)  Ergot seeds

(3) USe B URIg Pels o—

() T

(i)  BeIDNI
(i)  PNar

(v) faea st

The famous embroidery of Punjab -
(i) Kantha
(i)  Phulkari
(i)  Kasida
(iv)  Chiken work
g2 Raa ¥l &1 gid sifom—

Fill in the blanks :-

O 5 L Ao G & & |
....................................................................... blood is found in Artery.
DRI R ES T 1 gHE wIfad BT B
.................................................................. is secreted by thyroid gland.
(i) FAICTT T B B W e AT B ST ® |
................................................ is caused due to deficiency of vitamin — “A”
(iv) T B, AfSTAT BT oo TTIHH TR R T ST | |
..................... temperature is required for preservation of fruits and vegetables .
(V) ST BT RIT oo @ T HA HRAT AR |
The colour of thread should match with colour of ...
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U3 TdH qa H IR SIford— (5)
Give the answer in one sentence :-
() TSI BT R B 87
What is the function of Heart?
(i) UcTeT T fhy Ped &7
What is direct income?
(i) XaTEr ARETOT T B
What is food preservation?

(v) IO f @ed 2°

What is hamming stich?

(v) demgHH fre weEd &7

What is Heredity?

U4 gl sl g 183— (5)
- -
(i) gab (i) TS BT AR
(i) T T HATA (i) UTRfaw dq
(i) 9B (i) AR dg
(iv) Hurd (iv) STER
(v) HISA (v) dEIHH & STHGI

(vi) Xad BT BT

(vii) dTATRT & STHET]

Match the columns:-
A’ B’

(i) Kidney (i) Jaggery syrup
(i) Qil and spices (i)  Natural fibres
(ii)  Honey (i)  Man — made fibres
(iv) Cotton (iv)  Pickles
(v) Mendel (v)  Father of Heredity
(vi)  Filtration of blood
(vii)  Father of Environment
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U5 2add dl alR¥mT farRad | )

Write the definition of respiration.

3AUdT /OR
gl Ud RRT 7 ®18 a1 3R oy |

Write any two differences between artery and veins.
U6 YW ¥ TN F A ol Afed? )
Why oral breathing is not desirable?

34T /OR

TId I DHISHT Ud ofTel Yo Bichl & G BRI el |

Write the main functions of white blood corpuscles and Red blood corpuscles.

g7 ST Ud Sify dier fh e 7 (@)
What is the under nutrition and over nutrition?
31IdT / OR
U D AT B D DS AR HRY ARG |
Write any four courses of spoilage of milk.
U8 daelg d [bel &l el & IR H faRkay | @)

Explain any two stiches of Embroidery.

SIdT /OR
S g P Hed 8° I8 fbad UbR & 81 &7

What is Artificial fiber and how many types of Atrtificial fiber?

79 URIRRISS TR BT IRR H RIT 78 &7 (4)
What is the importance of parathyroid gland in our body?
34T /OR
@ BT A o R |
Draw a labelled diagram of skin.
.10 M @ RUIE TR HRA F99 €09 @4 A7 fh=al IR 9ral o7 qHssy | (4)

Explain any four points, which should be kept in mind while preparing the report of a Patient.

3T /OR
THTCR &1 U 1 & fafdr forlRa |

Write the method of preparation of Tomato soup.
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.11

U.12

U.13

.14

.15

.16

[168]-II]

A9 o 99 fb 91al BT e g anfed?

Which precautions should be kept in mind while measuring a cloth?

3T /OR
A Ig @ PIg aR Hifde o7 forled |

Write any four physical properties of Rayon fibres.

e Uq IR dTdreaRol Bl THsgY |

Explain the External and Internal Environment.

34T /OR
JeMgPH & Pls al 199 FHSIEY |

Explain any two laws of heredity.
fheTRTEReT BT BIs TR FARR fARG |
Write any four problems of adolescence.

SIdT /OR

AT & A forRad |
Write the advantages of yogaasan.

IGT B Dl U BT BT I BT |

Describe any five functions of blood.

34T /OR
RHT YEIPROT Bl UlhAT BT TS |

Describe the process of purification of blood.

St |7 & oy forfRad |

Write the advantages of life insurance.

31eIdT / OR
TRIGENT T 87 WRIGEN! & YhR oy |

What is purchasing? Explain the types of purchasing.
T QT & R HRd 87 IR HRT darsy |
Give four reasons why be preserve food?

31eIdT / OR
TS & 89 & 918 BRI 9d18Y |

Explain the external causes of spoilage of food.
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Y47 HANU & BIg B: BRI BT g HITOIT |
Describe any six causes of Malnutrition.
34T /OR
ART—HTSl BT MR H FIT HEd &7
What is the importance of green vegetables in food?

U.18 IUHERE gRT femae e gg T v B S =nfed?

What precautions should be taken by a consumer to prevent adulteration?

34T /OR

SUITT & SRS Dl FHSY |

Explain the responsibilities of consumer.

[168]-1lI Page 7 of 7

6)

6)



Gl Tl DI G : 18 HA IBI B F=AT : 11

Total No. of Questions: 18 Total No. of Pages: 11

BRIR ADUSY, U8 2016
220

vy : R I
Subject : CHEMISTRY
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facer —
(1) & geT sard &/
(2) HoT HHP 1 & 4 TF JAP J997 ¥ 5 & Fa@icd & 7o F4H S99 v
1 3% 3ared &/
(3) ¥ HHIE 5 & 8 TF JAPH F¥7 ¥ 2 3iF aicd &/
(4) ¥ FHIE 9 H 13 TF B F997 GV 4 & Jalcd &/
(5) HoT BHIT 14 & 16 TF FGB F97 G¢ 5 3P Fa@icd &/
(6) H¥T HHIF 17 & 18 TF JAF J97 Gv 6 3/ Jraicd &/
(7) o HHIF 5 F 18 TF 4B F97 4 [dweqg 179 T4 &/
(8) STTIIHAGHN W2 ¥q THidbd 37 757 |
INSTRUCTIONS: -
(1)  All questions are compulsory.
(2) Each question from question Nos. 1 to 4 carries 5 marks and each - sub
question carries 1 mark.
(3) Each question from question Nos. 5 to 8 carries 2 marks.
(4) Each question from question Nos. 9 to 13 carries 4 marks.
(5) Each question from question Nos. 14 to 16 carries 5 marks.
(6) Each question from question Nos. 17 to 18 carries 6 marks.
(7) Internal options are given in each question from questions Nos. 5 to 18.
(8) Draw neat and labelled diagrams wherever necessatry.
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o

o

g1 M

b Y —

Choose the correct option —

)

@)

[220]-111

e | S T B fhar 7 -
()  STRATHRT

(i)  3TEIA

(iiiy &R

(iv) FBATRT

Process of rusting of iron is:—
(i) Oxidation
(i)  Reduction
(i)  Corrosion

(iv)  Polymerization

Dol & —
() HgxCl2
(i)  Hg Cl

(i) HgsClo + Hg

(iv)  Hg + Hg.Cl,

Calomel is:—
(i)  HgCly
(ii) Hg Cl,

(i)~ Hg2Cly + Hg

(iv)  Hg + HgCl>
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()  SAMRIHIOT 0T [ IMAF BIT T

[220]-111

(i) Pl

(i)  Brg I
(i)  Fo ol
(iv)  Cly T

Oxidizing property is highest of :—

@

(i) Brz

(i) Fa

(iv) Cl
faerfes B, &—
(i) EdITRifaT
(i) Uifdd e
(i) PIETATHE
(iv) TIHIA
Vitamin By is:

()  Riboflavin

(i)  Ascorbic acid
(i)  Cobalamin

(iv)  Thymine
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(3) c HN Gl 2 ¢y o s &
6 5 2 HCI 6 5

()  TTexEA Srfafdhar

(i) AvSHIR IrfAfshar
(i) geof AfAfhar

(iv) hhoivs fAfHaT

CeH5N20| % CBHSCI iS oeeene
(i) Gatterman’s reaction

(i)  Sandmeyer’s reaction

(i)  Wourtz’s reaction

(iv)  Frankland’s reaction

g2 Raa W=l & gid SR — (1x5=5)
Fill in the blanks —
@) A o UhR B fohvee T BT § |
Total oo, types of crystal system are there.
@) gerl S faga aRT garRd T8 eRal BHEATT & |
Substance which do not permit electricity to pass through them is called ................
@) faerd SuEe I & THAS W . 3MTATT EIT & |
Anode has ............... charge in electrolytic cell.
(@) HABIST oo BT D 2 |
Malachite isore of ............ceeee.
) TSTSSICIAZT UP o Teref ¥ |
Trinitrotolueneis an ................. substance.
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g3 WE W T —
DIetH 3T
(1) Sepe I
(@) DNA
(@) D
(@) STETST g
() =T o

Match the following-
Column A

(@) Noble gases

(b) D.N.A

() Gasmask

(d) Diazo test

(e) Common salt

Y4 Udh g H IR SR —

Write answer in one word -

e T

SISCINCRINCI GG
urrfie RIHfee 3

(NH4)2Cr207

AT 18
STERIel 1 T 3rferensor

Column B
Transmission of heredity
Aromatic Primary amine

(NH4)2Cr207
Group 18

Adsorption of poisonous gas

() I B B AW & orl ty, fraa FATUR 87

For a zero order reaction ti, is proportional to what?

iy fSAfded geo &1 99 ddrsy |

Write the name of radioactive halogen.

(i) [Co(NH3)sBr]SO4 3R [Co(NHs)s SO4IBr fhd IR & HHTGIG &7

What types of isomer are [Co(NH3)5Br]SO4 and [Co(NH3)5 SO4]Br?

(v) ad BT AdPT 999 B ford B9 A IS SR iy 87

Which protein is responsible for the clotting of blood?

[220]-11]
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U5

U6

H,_SO
(v)  CH,COOH+HN, 2 "4 5 CHNH,+CO, +N, STt &7 A R |

EESEILIRNRS

Write the name of reaction:—

H_SO
CH_COOH +HN 2 4 CH_NH_+CO_ +N
3 3 2 2 2

3 Hydrazoic acid

feuga gvrg o Pped &?

What is Tyndall effect?

91 / OR
UEIHROT FIT B2
What is peptization?
=1 faetfimt & el forRey —
() ferf = A
(i) faer™= D
Write the functions of the following vitamins:—
(i) Vitamin A
(i)  Vitamin D
391 / OR
o= faeret & o faRey —
G fef=E
Gy faer® = K
Write the functions of the following vitamins:—
(i) Vitamin E
(i)  Vitamin K
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.7

us

.9

I IR RIS U by il 57
Why the noble gases are chemically inert?

91 /OR
AIE 17 & ad FiH 87

Why the element of group 17 are coloured?

=1 & e g3 fakey —

() CTTHART @A (1) 3MARA

(i)  UTeT BIEIe MRA [o]

Write the chemical formula of the following —
(i) Tetrachloride Platinate (ll) Iron

(ii) Penta carbonyl Iron (0)

3Udr / OR

=1 dgar ATl & IUPAC M forlRey

(i) [Ni(CO)4]

(i) Kz[Hgls]

Write IUPAC name of the following complex compound.
(i) [Ni(CO)4]

(i) Kz [Hgl4]

STUTEEIAT TIT JAAHAT B B H 4 o= AR |

Write 4 differences between molecularity and order of reaction.
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v.10

.11

3Udar /OR

JIfAfhAT BT TR dT <) ReRrid # 4 I forRay |

Write 4 differences between rate of reaction and rate constant.

VAT @& fAgd omUEed ol & AMifhd o § 8y @ SHH BM dTell NG
afafspard forRad | ()

Draw labelled diagram of electrolytic cell of alumina and write the chemical reactions.

3Udr /OR

St & frepyor # ugeh @l Rere fafr &1 amfed R 99"y dr RNie <<l 9 Nia
gTq IShYoT BT IS AMHAT BT el FHIBIOT SIS |

Draw the labelled diagram of vertical retort method used in extraction of zinc and write only

equation of chemical reaction in the extraction of zinc from zinc blende.

=1 srfaforamd foarRed — (@)
()  DriTAVH SrfAfhar

(i)  STISI®BM AfAfhar

Write the following reactions:—

(i) Carbylamine reaction

(i)  lodoform reaction

Sdqr / OR
o arfafshamd forRedy —
() hoivs IfAfhar
iy fopfew arfafear

Write the following reactions:—
(i) Frankland reaction

(i)  Fittig reaction

[220]-11 Page 8 of 11



912 = aRad=l & e aHiexer faley — (@)
() T ¥ ulrferd
(i) T ¥ fera
Write chemical reaction of following changes:—

(i) Ethanol to Ethylene

(i) Aniline to Phenol

34T /OR

fr aRadal &1 e FHiwvoT forlRay —

() BT A fhATerverei=

(i) UIATT | SISV 2R

Write chemical reaction of following changes:—
(i) Phenol to Phenolphthalein

(ii) Diethyl ether from ethanol

W13 TANT el § VIS 99 T IS FHIdRor e, FHifed R €ior | (4)
Describe the preparation of acetone in laboratory with chemical equation and draw labelled
diagram.

31e0dr / OR
=1 @1 IRy —
() el HE=A
() oz FEET

Explain the following -

(i) Claisen condensation

(i)  Benzoin condensation
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Y14 AP BESIOM SAdcls &1 87 Afd JasmsY | (5)

.15

.16

What is standard hydrogen electrode? Explain with labelled diagram.

b A T 57 Ao 93 |

34T /OR

What is Dry cell? Explain with labelled diagram.

Arsfed ot W & JiRedies fafdy &1 Amfha o a919d g aRIfe AHER

forRe |

()

Draw a labelled diagram of manufacture of Nitric acid by Ostwald’s process and write chemical

reaction.

34T /OR

= fafor & 2aR fAfr @1 Aamifed i a9y 9 e IR foilkay |

Draw a labelled diagram of manufacture of ammonia by Haber process and write chemical reaction.

1 &1 98y —

()

(i) o

Explain the following —
(i) Neem

(i)  Bel

1 &1 98y —

()  RmTrep AATeh
(i) URMdd
Explain the following —

(i) Disinfectants

(i)  Tranquillizers

[220]-11]
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917 (1)

fre 1 TR @RI ©)

(iy  Hrcferar

NaoH & 4.0 I8 ufar forex Arsdr aral faoraa &) dAieRdr Sitd I |

Define the following —
(i) Molarity
(i) Molality

Determine the molarity of a solution of 4.0 gram per litre concentration of NaOH.

34T /OR

=1 @1 oRvfya s —
() T BT R

(iiy  FATTerdT

Define the following —

()  Henry's Low

(ii) Normality

Ife NaOH @ 2 7 250 fAfer faeas & SuRerd & a1 faome & Aorar =g
PIT |

If 2 gram NaOH is present in 250 ml solution, then determine the normality of the solution.

U418 d TqAT f i dedl H 6 TR IR foTRad | ®6)

Write any 6 main difference between d and f block element.

34T /OR

IS S dT UdIHgs H 3oy forfRad |

Write difference between Lanthanides and Actinides.

[220]-11]
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Gl Tl DI G : 18 HA T8I B F&AT : 07
Total No. of Questions: 18 Total No. of Pages: 07

TR AUy, TET 2016

231
fawg : o9 fagm=

Subject : BIOLOGY
(Hindi & English Version)

|HY : 03 TS quiies : 75
Time : 03 Hours Maximum Marks : 75
fAder — () T geT sard &

(i) 7%7 97 & g @vs 29 79 & @vs ‘I @vs ‘7 /

(i) @UE " H JeGITT FIT HHF 1 G 4 TP & forad sriiad RaT @il &t
qid Sglameid, V& A= TP qIdT H oN, @81 ollel g9 & FA® HIT
qv 5 3 Jared &/

(iv) @V ‘" § g97 HHIH 5 & 18 TF & U9 JI9F F97 H 3aie [Aeey 77
778/

(v) T BHE &5 § 8 TF T AGITNT FIT &/ FdF T G¥ 2 & Idicd
&) g% g7 & GV TTHT 30 T F [/

(vi) H¥T BHIF 9 G 13 TF TGITIT 97 &/ JAF 97 UV 4 3% ialed &/
Jcde go7 BT GV ITHT 75 Fs5) T e )

(vii) FFT HHF 14 F 16 TF S SOOT F97 &/ FAF F¥7 GV 5 3F r@led
&/ gcdd g BT GV TTHT 120 It T i/

(viii) FTT HHH 17 & 18 TF e SOIT F97 &/ FdF F¥7 GV 6 IF r@icd
&/ gcde g7 &7 GV TTHT 150 Il F o/

(ix) SITIEAGER T2 THHT 37 §7I59

INSTRUCTIONS: -

[231]-11]

(i)  All questions are compulsory.

(ii)  There are two parts section A and section B in the question paper.

(iii) In section A question nos. 1 to 4 are objectives types which include Fill in the
blanks, Choose the correct answer, True / False and Match the correct pair.
Each question carries 5 marks.

(iv) Internal option are given in question nos. 5 — 18 in section B.

(v)  Question nos. 5 to 8 are very short answer type question. Each question carries
2 marks and word limit is approx 30 words.

(vi) Question nos. 9 to 13 are short answer type question. Each question carries 4
marks and word limit is approx 75 words.

(vii) Question nos. 14 to 16 are long answer type question. Each question carries 5
marks and word limit is approx 120 words.

(viii) Question nos. 17 to 18 are long answer type question. Each question carries 6
marks and word limit is approx 150 words.

(ix) Draw suitable neat diagrams where necessary.
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gusg "“3dA"” Section “A”
IRIS U3 [Objective type Questions]
91 IS TGS U ¥ A T Aeei § ¥ 98 SR gHaR foiRey — )

Choose the correct answer from given option -

@)  UBTI FIAYIT B AT BT g BT ® —

() TP
(i) ~ ATgCIBifogAT
(iiy AP

(iv) TEOARICRS

The centre at photosynthesise is -
(i) Leucoplast
(ii) Mitochondria
(i)  Golgi bodies
(iv)  Chloroplast
@) < I f5E FHIE & ST & BRI BT o7

(i)  <XIgs
(i) CRRCRI™
(i) TeMfer
(v) g=gfor

Diabetes is caused by the imbalance of -
(i) Thyroxin

(i)  Testosterone

(i)  Adrenalin

(iv)  Insulin

(@) ©sgs @ U ¥ B drell A BT M IR —

(i)  PHTgRAT
@iy AR
(i) A
(iv) UPRIIRTT

Movement occuring in mimosa plant is called -
(i) Selsmonastic movement

i)  Thermonastey movement

i)  Chemotropism

iv)  Photonasty
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@) HRFH B HH | uredl & gRkwf —

() el B 9§

(i) TS B A B

(iiiy Tl BT ST &

(v) ST 8 oI @

Due to deficiency magnesium leaves turn -
(i) Yellow

(i) Red

(iii)  Black

(iv)  Voilet

(3) USH BT UNIeTor ST ST ¥ —
()  Teir
(i) SISl Tvdo
(i) H.LV. TRIEor

(v) ST 9 BIS 81
AIDS Test is known as -
(i) ALISA

(i)  Australian antigen
(i)  H.LV. Test
(iv)  None of these
g2 Raa W=l & gid SR —
Fill in the blanks -

O NS 25 BT ISR 2 |
Lichens is the example Of ..o,
(i) RBCT T oo, B HH A BIAT B
Deficiency oOf ....coviiniii causes Richeits.
(i)  SNAT WA B R o T MaeTd B |
............................................ Gas is necessary for living.
(v) o1 ® fofiT oietor @t ufham B PEd © |
Process of sex determination test in humanis called ........................
(v) Orel § qEdRT B ol STRGTRT B oo 2

Hormone which is responsible for the vernalization in plants is called................ .
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U3 Sl e —

Match the column -

Column ‘A’ Column ‘B’
DicTd 37’ Picd q’

(i)  omaT ol T ORI
Amoeba Stem parasite

(i) SR FHeue
Cuscuta Pseudopodia

(i)  BFFISA faerf= <
Haemoglobin Vitamins ‘C’

(iv) hdl Cii|
Scurvy Seed

(v) dIoros SIGRCSECINED
Ovule Red blood cell

U4 TdH I H IR faIlRad —

Answer in one word -

() 9T B AT ST JaNT BRI &7

Which type of water is used by plant?

(i) P AW A BT IGard fbaar s 8?
What is the normal blood pressure in human?
(i) AT BT 597 fHa gl 87
What is the hearing capacity of the human?

(iv) HTHell &7 aFafad A @I 87

What is the botanical name of ground nut?
(v) < = Sl & HAhRoT W S Sl Bl RIT Had o7

What is the name of organism produced by the hybridisation of two different species?
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U5

.6

7

U8

.9

9gug ‘9"’ Section “B”

DDl 93 @ &l B foRed |
Write the functions of Skeltal system.

34t / OR
ART=h & &1 B oIl |

Write two functions of Brain.
qielt § fhds TR & fedt Bt 87 A forRkad |

How many types of movement in plants? Write names.
3dT /OR

JIAT AT B?

What is aging?

Aftqefordr &1 gR¥d IR |

Define the photo periodism.

34T /OR
TR RIT &7
What is regeneration?

Sifdd Teat & T foRay |

Write the name of biotic factors.

3AUdT /OR

THeg Tl @ faeryany iRy |
Write the specific features of xerophytes.

Aevos] @ drd forRad |

Write the functions of spinal chord.
3dl /OR
399 Ud €89 H 4T SR 77

What is the difference between Respiration and Combustion?

[231]-1 Page 5 of 7
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9.10

g1

.12

.13

U.14

cved Ud formrie # @ SR 87
What is the difference between Tendon and Ligament?

3T /OR
TR & AR B foaRad |

Write four functions of Liver.
TR WRATOT T 87 §96 o™ 9d1gd |
What is cross pollination? Explain its advantages.

34T /OR

JIST08 &l W AmMifehd o 9918y |

Draw a labelled diagram of ovule.
GTe Sl Ud @ Sl # 7 R 27

What is the difference between food chain and food web?

3AUdT /OR

el 7@ & IR Uil & 9™ U9 wefiy #ew foRay |
Write the name and economic importance of four medicinal plants.
freRraven &1 faervarg forRad |

Write the special features of Adolescence.

3T /OR

ST gl @ DRI Fared |

Explain the causes of population growth.

qredicASd gd fdgema § am iR 87
What is the difference between rainspiration and guttation?

3AUdT /OR

ARIAEH Tl 1 27 o |ftd qasy ud o 1 foiRay |

What is Hydroponics? Explain by diagram and write the merit of this method.
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915 fOoRa @& s foaRed | (5)

.16

U7

U.18

Write the functions of bile juice.

34T /OR
ad & B forRay |
Write the functions of blood.
STl YUY & HROT 18 | (5)
Write the causes of water pollution.
4T /OR
A ERETT B U AT |
Write the control measures of soil erosion.
UTEl GIYOT 9 TR H T SR 87 6)

What is the difference between photosynthesis and respiration?

3T /OR

I Bl X DI AT B Il dRb [IRaY |

Write the caucus affecting rate of breathing.

ST IS &1 3y AFd T B Halls H & aMeId 8 Fa6dl g a9smgd | (6)

How can study of biology help in human welfare? Explain.

3114l / OR
ffaRaa R fewmolt falRey —
(1) g e
2) Sfds SRS

Write short notes:-
(1)  Bio fuel

(2)  Bio fertiliser
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Total No. of Questions: 24 Total No. of Pages: 07

BRIR ADUSY, U8 2016
310

vy : g IeTyH

Subject : Business Studies

|HI : 03 TS quTids : 100
Time : 03 Hours Maximum Marks : 100
A& — () G geT e &

(i) HoT HHE 1 G 5 TH Iegl70 J97 &/ FAF & ford 5 3w [FiRa &/
(iii) Fo7 HFH 6 & 10 TF FAH F97 & forg 2 3% fFEiRa &/

(iv) Fo7 HFF 11 @ 17 TF JAF F97 P o7 4 3 [T &/

(v) T HHF 18 @ 22 TF JAF F97 P o7 5 3 [FeRa &/

(vi) T HHIF 23 & 24 FAF FI7 & o0 6 3E [FERT &/

(vii) FFT HHF 6 & 24 TF TH gII F Tales Reey &Y 714 &/

(viii) FAE F¥T B o7 ERT ST T & GG T 8/

INSTRUCTIONS: -

[310]-111

(i) All questions are compulsory.

(i)  Question Nos. 1 to 5 are objective type questions. Each question is allotted 5
marks.

(iii) Question Nos. 6 to 10 are allotted 2 marks each.

(iv) Question Nos. 11 to 17 are allotted 4 marks each.

(v) Question Nos.18 to 22 are allotted 5 marks each.

(vi) Question Nos.23 to 24 are allotted 6 marks each.

(vii) Internal options are given in question Nos. 6 to 24.

(viii) Marks allotted to each question are mentioned against the question.
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U1

U2

U3

Eus—31 / SECTION-A

Rer worrt @ gfif AR — (6)
Fill in the blanks-
OO IR==2:2 A ye=r gRT fReiRa fee ma € |
Objectives are decided by .......coouiuiiiii i Management.
CYIR R =t AR B T £ B R R BT T & |
Supervisory management is the ....... ..o level
(3)  STCRRTERT URTIT QT oo seeeseees e BT 2 |
International environment isS alWays ...... ..o
YT & 131 157 @ IR H FrE B uihar 7 |
Planning is the process of thinking about ...,
(B) R H oot NP JOTel BT JIYATT AT ® |
The India follows the ..o Eeconomic System.
U Ieg H SR forfay — (5)

Write the answer in one word-
(1) o=t &1 T B9 ovue 8iar 27
When issuing of debentures is beneficial?
(2 fISHE 9l &1 EEr g 87
Advertisement is when source of recruitment?
(3) U T 34 auf b forw & 72 A Ao RIT e 87
What is called the financial plan for five or more than five years?
(4) ol AT BT IR @ forg fha USh &1 yanT fear smar 872
Which capital is used to purchase raw material?
(5) A= & wduerd fhder AR fhar s 87
What is determined in planning first of all?
AT BT 3T H IR QIRI— (5)
Answer the following in true/false-
(1) REEET U |ad SIRT ]E arell uishar T8 g |
Controlling is not a continuous process.
@) fIged 9eg FomHS BT ©
Deviation is always negative.
@) Ui qroR qen R CUCISISEB IIRSEIE =
Capital market and money market both are same.
(4) doIC OIS WHY H ad fHAr ST © |
A budget is expressed in qualitative terms.
(5) o< gever A= yew BT Ud 30T B |
Fanatical management is a part of a general management.
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U4 el Sisdi 9918y — (5)

(31) orgEmE &1 g (1) fapar
@ uR=mas fre 2) <R
(@) NS Hifd &1 g 3)  war
(&) Yodre &I U= (4) A
g) dbR BT U (6) erfie
Match the following

(a)  Principle of Discipline (1)  Seller
(b) Identification Mark (2) Taylor
(c)  Principle of mantel Revolution (3) Purchaser
(d)  Letter of Enquiry (4) Fayol
(e)  Dunning Letter (5) Typist

us5 W e gfg— ()
Choose the correct option :-

(1)  PHHIR & a9 § fHar Siar a—

() <afdac uRiefor
(i) gfg o

(i) ST ONefor
(v) SR A

Selection of employee is carried out by-
(i) Personality test

(ii) Intelligence test

(iiiy  Aptitude test

(iv)  All the above

@) Thu—fafag § sa—fasa gar a—

() ST I

(i) gar BT

(i) vyt @t

(iv) i &

Stock Exchange carries purchases and sales of -
(i) Product

ii) Money

i)  Securities
iv)  Stock
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(4)
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Heg AT Fofl Ol 8—

() Upd® B 9«
(i) oY ® 9%
(i) Rrema @ 9«

(v) SUge AT BIS TG

Price list is sent-

(i) After Enquiry
(iiy  After Order

(iii)  After Complaint

(iv)  None of these

=T afRrd 8-

() oRem «

(i) ®&Fw

(i) I

(v) T
Controlling is related with-
(i) Result

@iy  Work

(i)  Efforts

(iv)  All of these
Friefier Ion & wwfora 8t 23—
() b

i)

(i) <ASR

(v) b

Not included in working capital -
(i) Stock

(i)  Machines

(i)  Debtors

(iv) Cash
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.6

.7

U8

.9

v.10

.11

Eus—9 /Section - B
JIdPROT B & TLIF IqTS | (2)

Write any two objectives of globalisation.

31dT /OR

ISR F FT M 77
What is meant by Liberalization?
ARG IR B <1 Aew Fqrsy | )
Write any two importance of business environment.

34T /OR
T4 i AR & STAR Reei—fbeT Sa & Rord crgera o Sfard 27 (@1 @)
As per new economic policy for which type of industries Licence is compulsory? (Any two)

ATGATIS TATaReT &) & YE fRyard qasgy | (2)

Describe two characteristics of Business Environment.

34T /OR

TGRS ITTaROT & T I %\'?

What is meant by business environment?

faspg dag &1 gR9IRT SIfoTY | W)
Define sales promotion.

34T /OR

oo @) gafa gad | (@E <)

Write the nature of marketing. (Any two)

SUHTGIT BT IRATT B | ()
Define Consumer.

3AUdT /OR

SUATGIT & HTg QI odeToT oIy |
Write any two characteristics of consumer.
oA & TR ST TS | (4)

Describe any four objectives of organesation.

3120dT / OR
PR T=AROT UfshaT BT A |

Explain the process delegation of authority.
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U.12

.13

U.14

.15

.16

17

U.18

TS Ufshar &l AAegd
Explain the process of organisation.

3AUdT /OR

311?{21‘ ST AT B AT el ERIERE
Explain the elements of Ideal organisation structure.
IR FHTO B o7 qaEd |
Write four merits of formal communication.

4T /OR
T 3D UAdeTh b oI BT I |
Explain the qualities of a good supervision.

frdem © 98 o 9HsTsY | (B1E AR)

Explain the importance of directing. (Any four)

SIdT /OR

YT RN 61 G0 7 272
What are the barriers of effective communication?

fo<ig gevr & #e@ &1 9agy | (B1E TR)

Explain the importance of financial management. (Any four)

SIdT /OR

ST AREAT BT YHIId H-A a7l NdRe gcd qarsd | (B3 aR)
Explain the external factors affecting capital structure. (Any four)
& 3 AMHROT (F108) B fIRHag qarsy |
Explain the characteristics of good brand.
31T /OR
I FeRo & 3wy 918y |
Explain the objectives of price determination.

U B SRS BT TS |

Explain the responsibilities of consumers.

3dl /OR
IOHIFAT HRETT & AEAl BT FASTSY |
Explain the means of consumers protection.

e @ usfa B \HsTEY |

Explain the nature of planning .

[310]-11 Page 6 of 7
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.19

.21

U.22

.23

U.24

310dT /OR
oo @Y ARl BT Soold B |

Explain the limitations of planning.

I ufehar &1 qHSY |

Explain the selection process.

34T / OR
yfdreror &) faeiyand garsy |

Explain the characteristics of Training.
A & I BT qaqT8Y |
Explain the objectives of SEBI.
3T /OR

hl faufdr & we@ & Ay |

Explain the importance of Stock Exchange.

T 3T ARG U5 & ATARS 0T 918y |
Explain the inherent merits of a good business letter

3AdT /OR
RS T3 & fbg! dfer Sewdl &l fafay |

Write any five objectives of business letters.

qHI & Hed Dl Iagy |

State the importance of coordination.

34T / OR
g e 69 wed 87 39d B 9disy |

What is lower level management? Explain its functions.

g & g &1 UG &1 qar=d |

Explain the nature of principle of management.

3T /OR

Th S, CoR & Ua fagrai &l 9adrsy |

Explain the F.W. Taylor’s principle of management.
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TR AUy, TET 2016

331
favy : aai¥e e
Subject: BUSINESS ECONOMICS
(Hindi & English Version)
|HY : 03 TS quries : 100
Time: 03 Hours Maximum Marks: 100

[ — () G geT siRard &

(i) T 97 F 7% T [A39 wiaern qde ggde gea & g5aw {ford/

(iii) F¥T FHE 1 @ 5 dF TEgiTo g7 87/ forage saiiad wel [@eey g7
Grefl T YT w8/ Terd, Siiel §5T 3 U 8 qry H fereger 8
JR% 97 P 5 & &/ GIHET ¥ % 3idbd &/

(iv) J%7 HHIF 6 & 24 § 3ialee [Adey &9 79 &/

(v) F¥7 FHHIE 6 & 10 TF Fdd J97 GV 2 3 3yaied &/ g HEr T HT 30
17 IFHTH 8/

(vi) FIT FHF 11 & 17 TF OB F97 GV 4 3 Jraica &1 Isg HFr T
75 — 120 9§ 3fFHTH &/

(vii) FIT FHIF 18 T 22 TF FdF I GV 5 3 Jalcad &1 Isq AT T
120 — 150 ¥17 3EHTT 8/

(Vi) FIT HHF 23 & 24 TH B FI7 GV 6 3P Jaied &/ I HE T
150 — 200 ¥17 3EHTT 8/

INSTRUCTIONS: -

(i) All questions are compulsory.

(ii)  Read the instructions of the question paper carefully and write their answers.

(iii) Question Nos. 1 to 5 are objective types which includes choose the correct
alternative, fill up the blanks, True/False, Match the column and Answer the
following in one word/sentence: Each question carries marks and Sub question
carries 1 marks each.

(iv) Internal options are given in question. no. 6 to 24.

(v) Question no. 6 to 10 are allotted 2 marks each. The word limit is 30 words
maximum.

(vi) Question no. 11 to 17 are allotted 4 marks each. The word limit is 75 - 120
words maximum.

(vii) Question no. 18 to 22 are allotted 5 marks each. The word limit is 120 - 150
words maximum.
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TS U9 Objective types
Tug ‘3’ Section ‘A’

U1 ETell I R — (5)
Fill in the blank -
IS RS R B S A 15: LA & §RT U4 fhar I © |
Rail Budget is presented DY ... in parliament.
(i) UL BT T USIR T D T e TR 3ffdd gt foar 2
Prof. Keynes has given more emphasis to ...........ccoooviinininnn. for increasing employment.
T ISR 2 = <3121 K S 5 -, B B |
On the basis of tiMe Markets @re .........o.ouieiiii e
L N 5 A5 B SO TR ST ST ©
Corporate tax iS iIMPOSEA ON ... . e e
(iv) dIGE 99 BT BH AT BT It Sl ARIRD T ARID 579 BIAT & HEAAT © ..o
Child of less than 14 year of age who dose physical & mental labour is called ..................
U2 9/ fordr — (5)

Write True / False -

() gt U v By doaer T8 ¥ |
Prefect Competitions is not an imagination.
(i) DS TR BT &F ARfad BT & |
Scope of cash wages is limited.
(i) UL ATHA B AR T I BT PR 2 |
According to “Prof Thomas” profit is the reward of entrepreneurs.
(iv) DR BT TIE Ued B B |
Payment of Tax is voluntary.
(v) TP |HT & goic TR 9907 faaqEa gy fear T ® |
The budget speech in the Lok Sabha is delivered by Finance Minister.
U3 TdH &l I /I H IR Gl — (5)

Write the answer of the following in one word / sentence -

(i

(ii)

[331]-111

B G goic 3l eidl 27
Which Budget is good?
R1em B fhas gRT VT a7 27

Who imposes education cess?
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U4

U5

(i) TR H AMIPR fHF UHR BT FR 27

What type of tax is income tax in India?

(v) ¥He HId BT Udh SaIexv STy |

Give an example of cash crop.

(v) NI M d) O fhde 99 H @ STt 27

In how many years National Income is compounded?

A8l SISl g1y —
Match the following —
@) A
()  GDP &I YT I
Full name of GDP
(i) epel fashe
Single Seller
(i) TR I IR DI AN |

Market Price can be

(v) ITIRIR® Sfad § &JreT &Y &%
In practice rate of internet can be
(v) NDP &I T |
Full name of NDP

) frped gAY —

Choose the correct alternative -

(@) <=d &R SUNNT & &g Hee BIaT § —

@ B
G TN IATE

Net Domestic Product

HH I A B AHT B

Less or more than the cost of production
0 o 31 TS BT A

Can never be zero

SETICRGESICIE

Gross Domestic Product

UPBTEDHR

Monopoly

(i) EEN

iy  YUI&

(i) &

(v) STH A BB ol

Relation between saving and consumption is -
(i) Opposite

(ii) Direct

(i)  Both

(

iv)  None of these

[331]-111
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[ESIEIGE) &IXT duic P qIH T8l ¥ET ST 8—

() g

(i)  ATHAHT
IRIELE

(v) fae=

The budget is presented by finance Ministry firstly in / to-

(i) Parliament

(i) Lok Sabha

(i)  Home Minister

(iv)  Finance Minister

freTs ST T Bef 27

()  STRYE

(i) BTG
ARSI

(iii)

(iv)

Where is Bhilai steel plant?
(i) Uttar Pradesh

(i)  Chhattisgarh

(i)  Madhya Pradesh

(iv)  Punjab
ARA &7 I U e © —
()  oreT e

(i) SE SR

(i) eI I

(iv) BT ST

The most ancient industry of India is -
(i) Iron Industry

(i) Jute Industry
(i)  Cotton industry
(iv)  Paper Industry

IRA ¥ Halfdeh &R BT UG 8T & —
(i) ®A

(iy TS

(i) PACH

(iv) 3NH

Maximum Rubber production in India in -

(i) Keral

(i)  Tamilnadu

(i)  Karnataka

(iv)  Assam
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U6

.7

.8

.9

v.10

[331]-111

gusg ‘d’ Section ‘B’

e forfaa &1 BRd B BT 27

Which Govt. Authority issues new currency notes?

34T /OR
ARG b & 1 Heed Tl |
State the importance of commercial bank (any two).
golc & QI SGa gl |
State two objectives of Budget.
34T /OR
Aferd gote fod FEd 82
What is Balanced Budget?
g fafre @ 2°
What is Barter?
34T /OR
fafma & foas gaR €2
What are the forms (types) of Exchange?
Afgar ST o1 a1 yHE TRAR forl |
Write the two main problems of women Labour.
34T /OR
S DI &l AR foraT |
Write the two problems of Child Labour.
Y:%X DI T B |
Explain the X = Zix
N
3AdT /OR

iReghT BT ST A |

Explain the meaning of statistics.
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.11

.12

U.13

U.14

.15

U.16

afte 37efea &7 3 Wt BR1 9 gRYTT forar |

Explain the meaning of Micro Economics and give definition.
3T /OR
Ifte sreferd o IR faRmard fomar |

Write any four characteristics of Micro Economics.
TR BT AT T BRI Yd GRETT 2T |

Write the meaning of Market and give definitions.

3T /OR
ot qroR @t faRyany foaRad |

Write characteristics of perfect market.

YT Agel P BHIg TR Hewaqol ol Fargd |

Write any four important advantages of balance of payment.
34T /OR

facel faffma &% @1 y9Ifdd &= drel gcadh 9aigy |

Write the factors affecting rate of Foreign Exchange.

faceh faffrmg av &1 fFeiRor &9 8dar 8, W o1 |

Explain how the of foreign exchange rate determined.
3T /OR
faceh fafma g3 1 gRwWTT &1 U9 &M e v |

Write the definition of foreign exchange rate & explain the meaning of foreign exchange.

il 9 AN & HAERTGE T PRI H B gDhR0 & HROT [Tl |

Write reasons of centralisation of cotton Industry mainly Maharashtra and Gujarat.
34T /OR

BT IS B IR FARIT forT |

Write any four problem of paper industry in India.

Adhel TR IS @ faRmard forr |

Give characteristics Gross National product.

34T /OR

[331]-11 Page 6 of 8
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U7

.18

.19

Y.20

.21

I 3y 3R ol ey # IR sfav foran |
Differentiate between National Income and Private Income (any four).
fp=gl TR ufer diell &1 ITAIRar qarsy |
Write about uses of any four medicinal plants.
34T /OR
=l ar famgell & ufdam T 9 S SET & RFIaR & HRYT for |
Write any four points the causing the localisation of Jute industry in west Bengal.
qRERTETE] RigT @ Jar o |
Write the assumption of classical theory.

34T /OR

ST TgRT @1 Rear for |
Write the characteristics of propensity to consume.
MR G A AR W $RI Y GR¥IT 7 |
Define and clarify the meaning of normal price.
34T /OR
ot SREARTT Td et R § srae for |
Differentiate write any five points about perfect competition and imperfect competition
1 & AR a@ forar |
Write any five points of determinately of rate of interest.

34T /OR

o™ & uRe T forar| (@18 dr=)
Write any five points of determination of profit.

ge T & SN & oy fora |

Write any five points of importance & advantage of major industry.

31UdT /OR

SIS SEN & qaRR fodl |

Write any five problems of Indian Jute Industry.

[331]-11 Page 7 of 8
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Y22 \hd LR I P faeyari forr |

.23

U.24

Write characteristic of the Gross National Product — GNP.

34T /OR
Aifad g @1 faemard fomr |
Write the characteristics of the National Income.
PRRIU & A g forar |
Write the modern theories of taxation.

34T /OR

BRI BT GBI THSTISN |
Explain the classification of Taxes.
flheR & el Mcen® o1 W A7 |
Explain the Fisher’s Ideal Index Number.
3dT /OR
e &1 AR | |

Explain the limitations of index numbers.

[331]-11 Page 8 of 8
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Gl Tl DI G : 18 HA T8I B F&AT : 07
Total No. of Questions: 18 Total No. of Pages: 07

TR AUy, TET 2016

610

fawa : & vey aiwor vd 9 fagmA
Subject : HOME MANAGEMENT NUTRITION & TEXTILE
(Hindi & English Version)

I 1 03 TS QUi : 75
Time : 03 Hours Maximum Marks : 75
fader —

(1) & g7 3fFard &/

(2) %7 HHE 1 @ 4 TF JAF F97 GV 5 3] 3Gicd & T JiH SIFeT gv
1 3% 3T &/

(3) T¥7 HHIE &5 & 8 GF FAH ¥ 4V 2 3% Jrared &/

(4) T FHHE 9 W 13 TF FAB F97 GV 4 3 raed 81

(5) T¥T FHHIE 14 F 16 TF FAF F97 GV 5 3 3yaicd 8/

(6) T FHHIE 17 & 18 TF F9F J997 q¢ 6 3% Jdicd &/

(7) Ho7 HHE &5 @ 18 TF FAF F97 # Reey &9 73 &/

(8) STTEIHATYEIR =& Uq THIHT 47 Y |

INSTRUCTIONS: -

(1)  All questions are compulsory.

(2) Each question from question Nos. 1 to 4 carries 5 marks and each - sub
question carries 1 mark.

(3) Each question from question Nos. 5 to 8 carries 2 marks.

(4) Each question from question Nos. 9 to 13 carries 4 marks.

(5) Each question from question Nos. 14 to 16 carries 5 marks.

(6) Each question from question Nos. 17 to 18 carries 6 marks.

(7) Internal options are given in each question from questions Nos. 5 to 18.

(8) Draw neat and labelled diagrams wherever necessatry.
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TS ged
Objective type questions
g1 92l fdbey gfg —

Choose correct option -

@ BT WRel HRUT H g9d Bl B —

() G DI
(i) oIfdd &1
(i) I g Al DI
(v) SuF B
Work simplification saves -
(i) Time
(i) Energy
(i)  Time & Energy
(iv)  Fuel
@) e < @ 0 9 W a1 0T —
() R
Gy T -9
(i) e
(iv) Reoca

The disease caused by deficiency of Vitamin ‘A’ is -

(i) Anaemia

(i) Beri — Beri
(iii)  Night blindness
(iv)  Rickets
(@) fOvg w@Rey HITGH HI WIUAT g8 —
(i) 1948
(i) 1945
(i) 1980
(iv) 1955
World health organisation was established in -
(i) 1948
(i) 1945
(i) 1980
(iv) 1955

[610]-11 Page 2 of 7
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()

IO ARETT BT 1T AT —
) 1948

(
(ii) 1986
(i) 1950

(iv) 1951

Consumer Ac was formed in -

(i) 1948

(ii) 1986

(i) 1950

(iv) 1951

ISTTd & IRURITA HeNETde & —

() T

(iv) HABRNI

Traditional embroidery of Punjab is -
(i) Kantha

(i) Kasooti

(i)  Chikenwork

(iv)  Phulkari

g2 Raa W=l &1 gid & — (5)
Fill in the blank -

(i)

(iv)

[610]-111

freTadT uerel W B ol o B B |
Adulterated food iS ....cvviiniiii i, for health.

524 BT A PEATT B |

Fatigue is of ... types.

I8 URIR O Ufa—ucil 9 ST faarfed Faml F 9907 € oo IRaR

HEAT ¢ |
Family constituted by husband - wife & their married childrenis called ...................... family.

TEI BT BEBT T oo AT < =Ry |
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U3 el Sl e[ R — (5)

Match the correct column —

A’ ‘B’
‘ar g
()  SUHIT foTefTaRoT
Consumer dehydration
(i) T HRETOT fasira=
Food preservation Advertisement
(i) i I BT g
Kantha Sun light
(v) WEgHE R
Diabetes Bengal
(v) faerfm < g
Vitamin ‘D’ Insulin
U4 9\ /3 fordi— (5)

Write true or false -

() oIl A9 B SHIS ‘DAl B

‘Calori’ is the unit of measuring energy.

(i) NI TH R MG BT HAB A T |
Gum is used as starch for silk garments.

(iy e B BT 500 AfARET DAY & S B |

Additional 500 Calori of energy is administered to pregnant women.

(v) ATHMT SIWI §RT &l AT Hhodl § |

Cholera is caused by “Salmonella Typhich”.
(v) e T G T U BT YA BN 2 |

Hot water is used to blue clothes.

g5 SuMadr fRueor @ e? )

What consumer education.

3AUdT /OR

[610]-11 Page 4 of 7



U6

.7

.8

9.9

IUHEIT & QT ARTHR ford |
State any two consumer right.

g7 3T w87

What is nutritional education?

34T /OR

qiyor 3T fhdw UR @1 Bl 27

What are the types of nutritional education?
QTel ARETT ¥ Y T AT &7
What do you mean by food preservation?
34T /OR
TR T 77
What is processing?
A @ 1 Wifde IRy ford |
Write two physical characteristics of Nylon.

3AUdT /OR

GEIST Ufshar T TSy |
Write tie & dye process.

fiferar I0T B BRI, fefor 7 IUAR ford |

State the Causes, Symptoms & treatment of jaundir.

34T /OR

TGRS I g BRI, &0 g SUIR ford |

State the causes, symptoms & treatment of typhoid.

710 999 3R wfed gam & Riera ford |

State principles of time & energy conservation.

[610]-11 Page 5 of 7
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g1

.12

913

U.14

3T /OR

B dTfoldT T 8?7 BT B PR ford |

What is work plane state the types of work.

el RET BT e fordd | (4)
Write the importance of food preservation.

34T /OR

TRl (TUDBTei) WTeT ReTT BT AHeNg |

Explain Domestic (Temporary) food preservation.

T B TBRT BT FHEY | (4)

Explain the types of blue.

3AUdT /OR

b GAlg T 57 3AD! (AT BT qUH B |

What is dry cleaning? Explain the various methods dry cleaning.

SUHIGT & FARATY B — DI A 87 (4)
What are the problems of consumer?

3AUdT /OR

a1 forg w1 82 aFe g o — B9 9 8?

What are trade mark? Write different types of trade mark.

JMER IR BRI T fh — b 1l &7 &= AT =iy | (5)
What are the steps that should be considered for meal planning?

3119l /OR
JUIYT Td FHANOT H FIT — FIT IR 57

What are the difference between satiation & malnutrition?

[610]-11 Page 6 of 7



U.15 URaR P fERIvarg Ry | ()

.16

U7

.18

What are the characteristics of a family?

3IdT /OR
HYad IRAR & FIT A &7
What are the benefits of Joint family?
Hels HId 99 b — fH= 91af &1 &g =g? (5)

What all things are to be kept in mind while embroidery.

3T /OR
fewof ford —
(1) ®AcH B B!
2) @S B AETeR
Write short note on:-

(1)  Kasooti of Karnataka

(2)  Chikenwork of Luknow

AfeTd 3MBR DI YA B+ aTel dedl BT gl o | ()

Describe the factors that affect the balance diet.

3AUdT /OR

afofg ueref g 599 819 aren BNl dIF — B oY 87

What are the prohibited edibles? State the different harms caused by them.

feTRTaRRIT H HIore AF=ll TR B — HIF Al 87 ©)
What are the food related problem in adolo sence?

3AUdT /OR

5 uerd g BT IH9T fbe — b 91di &1 &9 T&i?

What all things should one take while shopping for food item?

[610]-11 Page 7 of 7



G ULAT DI HAT - 16 H YOI DI H=AT : 03
Total No. of Question: 16 Total No. of Pages: 03

616
vy : Frger TSR, Al [F A

Subject: COMPUTER HARDWARE, ASSEMBLY AND MAINTENANCE
FHY 03 HUC quifes : 040

Time: 03 Hours Maximum Marks: 040

AT — @it goT sifard &

Note :- All questions are compulsory.
9. 1 Raa el &1 gfd I (5)
Fill up the blanks.
()  ENIAC.....cc....... WS BT HAREX 2 |
ENIAC belongs to............... generation of computer.
(i)  PARAM TT ANURAG ... =l

(i) PR Teb........... SRR 2 |

Scanneris............... device.

(v) GOPHER (THR) T.......... Td B

GOPHERis................ tool.

(v) EMAILH CC T 31 ..oooooe BIaT T |

In E-Mail, CC means............

[616] Page 1 of 3



9. 2

[616]

frfaRaa semi #§ | 9 a1 Tad Bifey |
Pick true or false from the following.
() OfR s Rieed dfed &1 91T 8T 8 |

Power supply is a part of system box.
(iy TR & Ur emeeye &I Wive Hidl FEd ¥ |
The output from a printer is called soft copy.
(i)  WINDOWS 98 FAT 16 @I H{UIE &R & |
WINDOWS 98 supports FAT 16.
(iv) CPU T TId T 8F W 999 & folv Udh URaT & 7 BIal 2 |

A fan is attached to CPU in order to prevent overheating.
(v) HIFIHE "R ¥ 91 I 8 2 |
Seven colours are there in monochrome monitor.

gHde fiex &l FH=Isy |

Explain Impact printer.

ROM &1 27

What is ROM?

Telnet BT AHST |
Explain Telnet.

Ethernet IT &7

What is Ethernet?

Cache ®HIRY &I HHSATST |

Explain cache memory.

TATART HHgex & drivgha foRkeay |

Write the working process of Analog computer.

Bus &IT 87
What is Bus?

Page 2 of 3
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10.

11.

12.

13.

14.

15.

16.

[616]

SMPS &T IUIRT foIRay |

Write the use of SMPS.
FHHYCR RITH BT TS TR DI AaIHAT Fa1 Il 87

Why there is a need to upgrade computer system?

Hevdre § RAM @I install (=Siel) &1 &1 fafey forRaw |

Write the method to install RAM in Motherboard.
Tream f$wp = 2?

What is startup disk?
SVGA &1 87 ST YA forfey |

What is SVGA? Write its use.
Control panel (FTal U9el) &1 STANT fofRay |

Write the uses of control panel.

ST dAT LCD &1 I9AnT forRey |

Write the use of modem and LCD.
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Gl Tl DI G : 18 HA &I BT F=AT © 07

Total No. of Questions: 18 Total No. of Pages: 07

I : 03 HUS

Time : 03 Hours

TR AUy, TET 2016

620
vy : IRR == fhar — fas9 v W@y

Subject: ANATOMY PHYSIOLOGY AND HEALTH
(Hindi & English Version)

quife : 75

Maximum Marks : 75

facer —

(1)
2

(3
(4)
(5)
(6)
(7)
(8

wft g7 e &/

ge7 HHIH 1 4 TF 9B F97 GV 5 3F JMalcd & a9 A% FIFeT qv
1 3% 3aied &/

goT HHIE 5 W 8 GF FAFE FIT GV 2 3% Faed &/

o FHIE 9 W 13 GF JAF F7 GV 4 3F Faed &/

¥ HHIE 14 @ 16 TF OB F97 GV 5 3 raicd &/

o HHE 17 & 18 TF B F99 47 6 & Jraicd &/

e FHIE 5 W 18 GF JAF F¥7 § Qwey 29 13 &/

HGIIHAFEN 2 V9 THidd 37 J757 |

INSTRUCTIONS: -

[620]-I11

(1)
2

3
(4)
(5)
(6)
(7)
(8)

All questions are compulsory.

Each question from question Nos. 1 to 4 carries 5 marks and each - sub
question carries 1 mark.

Each question from question Nos. 5 to 8 carries 2 marks.

Each question from question Nos. 9 to 13 carries 4 marks.

Each question from question Nos. 14 to 16 carries 5 marks.

Each question from question Nos. 17 to 18 carries 6 marks.

Internal options are given in each question from questions Nos. 5 to 18.

Draw neat and labelled diagrams wherever necessary.
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g1 el f[Adeu ghg —

Choose correct option -

(@) oTel BT BT ARt ugrd Syl @ Sfifad @ ?q Sawad 8-

(i) oD
(i) ©°R
(i) N
(iv) O
Red coloured liquid substance necessary for living creatures is -
(i) Lymph
(i)  Saliva
(iii)  Blood
(iv) Sweat
@) RRRI # 984 91er ad 8-
i s
(i) s
(i) =Y
(v) PIg &I
Blood which flows from vein is -
(i) Pure

(ii) Impure
(i)  Green
(iv)  None of these.

() za9T 3T B —

i) ®d

(i)  STHRIY

(i) TIET

(iv) B
Respiratory organ -
(i) Heart

(i)  Stomach

(i)  Spleen

(iv)  Lungs

[620]-11 Page 2 of 7



()

)

Boll § Bols el dHRT 28—

i) DB

(iy <% wWie
(i) 9IRS

(v) RIwfera

The disease found in fruits is -
(i) Canker

(ii) Leaf spot

(i) Virul

(iv)  Ciphlis

IRR BT Ao s 8-

() UHRTSH
(i)  ggET
(i) Ead

(iv) STTARKTSH

Balance centre of the body is -
(i) Cerebrum

(i)  Spinal cord

(i)  Heart

(iv)  Cerebellum

g2 R ¥l &1 gid sifoy —
Fill in the blanks-

(i)

[620]-I11

b ARSI LI 11 ) K B2 T £ PEAN & |
Those obtaining food from dead & decaying are called ..o,
................................................................. 7 fHeIRTERAT BT HHAU B AR FeT & |
Adolescence is called “age of infection” by .......coooiiiiiiiii
FRITIT BT BT T e T 2|
........................................................................... is caused by deficiency of insulin.
fReIRTART £ S Y A A T |
The period of adolescence is ..........cooveveieiiinnnnn PO e years
a1 R 1311 2 A Il

JUVENIIE COUMt IS TN oo e

Page 3 of 7
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U3 gl Sifsdr 9919 —

() aiferer faare amy -
(iy SfFex 3H & gd -
(i) T -
(iv)  TATEROT ggEOT -
(v) fogw wfr -

Match the columns -

(i) Girl’'s legal marriage age
(i)  Before doctor arrives

(i) Aids

(iv) Environmental Pollution

(v) Pituitary gland

U4 I /37 ford —

Write True/False -

()

CENIREICIE]
18 a9
SEJERISERI
T ferfder

- Brain

- Increasing Population
- 18 Years

- Infected needles

- First Aid

() AT & RIS BT S W H dfer T 7|

The human nervous system is devided into 8 parts.

(iy TRADT gRT B9 Jod ¢ |

We smell by nose.

(i) <TT BIe Afdd BT A F81 AT =Y |

Snake bite victim should not be allowed to sleep.

(v) fpeiRTaenr & o 4T 2|

Adolescence is divided into six parts.

(v) ITTARTSS WS & 9T 2 |

Cerebellum is part of lungs.

[620]-I11
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U5

U6

.7

.8

.9

dfrer dF T 8?
What is nervous System?

34T / OR
aRdash BT IR BT o1 T had 87

Why the brain is called king of body?
WIS PBfTHTY a1 87
What are taste buds?

317dT1 /OR
gfte QY & deTor ford |

Write the characteristics of defective eye vision.
TR T 87
What is environment?

34T /OR

TITGROT UGHUT | Y FIT AASI 27

What do you mean by environmental pollution?
el JAURTET FAT 77

What is Juvenile delinquency?

31dr / OR
fPeIR dSN]E 9 31U P A 57

What do you mean by juvenile jails?
TG BT AHIBd & a9 dH) auie N |
Draw a labdled diagram of Axon & describe it.

341 /OR

TARash (98 ARTSS) & B ford |

Write the functions of cerebrum.

[620]-11 Page 5 of 7
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9.10

g1

U.12

913

U.14

HehTHD INT RIT 872 §9b Dol ® BRI ford |

What are infectious diseases? Write the causes of infectious diseases.

31e0dr / OR
TS H HeadT 27

How does Aids spread?
ST ARETT & U ford |
Explain the ways of water conservation.

34T /OR

arg UGEUT & ywra ford |

What are the effects of air pollution?

SHATIRI & < Siad # a7 SUART 57
What are the benefits of bacteria in our daily life?

34T /OR

Y07 & AR TR AR & JHR ford |

How many types of bacteria are there in term of the mode of nutrition?

freTRTaReT &1 gAY forRady |
Write the problems of adobscence.

3e0d1 / OR
fpeiRmen § Fa—2 918t uRadd 8 57
What are the external changes during adolescence?
gAT IR RRT # 7 iR 27
Write the differences between artery & vein.

341 /OR

gad D AT ([ FHsey |

Explain the structure of heart (with diagram).

[620]-11 Page 6 of 7
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Y15 RRIgS U &1 auiF & | (5)
Explain thyroid gland.

34T /OR

g BT =/ 9910 TG A= SI6T bl AH |

Draw a diagram of human eye & explain the common eye defects.

U.16 dTcl 3TURTE & BRI BT g PN | (5)

Describe the causes of juvenile delinquency.

34T /OR

qrforepT 18T &1 T A8 87

What is the importance of girt education?
917 WIAe fafeear § dF—2 9 101 89 =1fee? ©)
What are the common traits of a first aid assistance?

34T /OR

$M Taa o AR ford |
Write the methods of artificial respiration.

Y18 a1 27 fafe vasae 3Tl &l FHssy | ®6)
What is respiration? Explain different respiratory organs.

341 /OR

R O BT AHSY |

Describe male reproductive system.
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Gl Tl DI G : 18 HA &I BT F=AT © 07

Total No. of Questions: 18 Total No. of Pages: 07

9T : 03 TS

Time : 03 Hours

TR AUy, TET 2016

631

fovg : fos= & I

Subject: ELEMENTS OF SCIENCE
(Hindi & English Version)

quiies : 75

Maximum Marks : 75

s —

INSTRUCTIONS: -

(1)
2

3
(4)
(5)
(6)
(7)
(8)

[631]-111

(1)
(2

3
(4)
(5)
(6)
(7)
(8)

wft g7 ST &/

T FHHIE 1 & 4 TF JAF J97 GV 5 & J@icd & T F4H FIHeT I¢
1 3% 3T &/

¥ HHIE 5 @ 8 GF FAH FIT UV 2 3 Jrared &/

e HHIE 9 @ 13 TF FAH F97 GV 4 3% Jrared &/

¥ HHIE 14 @ 16 TF OB J97 GV 5 3 Jraicd &/

geT HHIE 17 & 18 GF JAF J997 4¢ 6 3F Iyraied &/

geT FHIE 5 W 18 0% JAF F¥7 § Qpey 29 14 &/
HTTeIHATEN W&o (9 THidd 37 §757 |

All questions are compulsory.

Each question from question Nos. 1 to 4 carries 5 marks and each - sub
question carries 1 mark.

Each question from question Nos. 5 to 8 carries 2 marks.

Each question from question Nos. 9 to 13 carries 4 marks.

Each question from question Nos. 14 to 16 carries 5 marks.

Each question from question Nos. 17 to 18 carries 6 marks.

Internal options are given in each question from questions Nos. 5 to 18.

Draw neat and labelled diagrams wherever necessary.
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94 el fdbeq &1 gATg BIfeiy —

Choose the Correct option_

)

[631]-111

e S BT TIRT H B © |
(i) fagga =4

(i)  fagd 99

(i) NoTTTST

(v) fagd sead

Electro magnet is used in-
(i) Electric bell
(i)  Electric bulb

(iii)  Train

(iv)  Electric press.

g T g7 BT & |
() g B

(i) s T

(i) DA BT

(v) T iR ARy @1 st a1q &1

Electric fuse is made up of-

(i) Iron
(i)  Copper
(i)  Glass

(iv)  Alloy of stannous and lead.

972yl Bl SARD BT 9 b defe ° fear?

IERELSEE]

(i)  Soiifera o
(i) TR A

(v) DAmIad o

Which scientist gave the name “Catalyst” to external substance\

(i) Brigiss
(ii) Berzelius
(i)  Haber
(iv)  Calocius.

Page 2 of 7
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U2

()

)

Tg B T 1 ufeqdl & 7 gA o 2|
G  forg

Gy “ifrs

(i)  Pefer

(v) PHead

Insect which sucks the juice of Brinjal leaf-

(i) Thirps

(i) Jasid

(iiy  Caterpillar

(iv)  cutworm.

UHTI Bl dgdl  da- R YhIeT AT Bl GI—
() P9 B AR B

(i) 9% I B |

(i) IwHTfId Y& B |

(v) ©F S 2|

When intensity of light increases, it the rate of photosynthesis as follows-

() decreases
(i) increases
(i) is not affected

(iv) stops.

Reaa el @1 gfid Sy —
Fill in the blank -

S

(=)

)

[631]-111

a8 e fTgaT Frsdl S @ HEATT B |

The solution whose concentration is known is called.................... solution.

The botanical name of Neemiis.................

ATATTS T Uil @ ATY Bl PN Tl B |

Transpiration................. the temperature of leaves.
SR BT SR H B AT T, HEAT 7 |

The respiration takes place in the presence of oxygen is called..............
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U3 UH I H IR Qo — (5)

Give the answer in one sentence.

(@) fagd g=& fvas UHR &7 BT 27

How,many types of Electromagnet?

@) Ee Ao @ Jrsar 5 dEd 57

What is a Concentrate Solution?
(@) ST & ARE H o IS g B START B 27

Which chemical substance is used in the process of water purification?
@) SARG fopar @« 87
What is Catalysis process?

3) wad foar &7 gk Sfeg?

Write down the definition of respiration.

U4 el SISt 9918y — (5)
< g
@) IRrera g () T
(@ oftes (i) @
@) IR @1 feafedm (i) ol ITAR® URTac
() dTSEl Bkl (v) Cra
(3) <m=gus (v) WIEA
(vi) 3TTac
(vii) CIL™ILS

Match the following-
“A” “B”

(i) Basilus tuberculosis (i) Colera
(i)  Poplin (i)  Fat
(i)~ Twinkling of stars (i)  Total internal reflection
(iv)  Vibro Coleri (iv) T.B.
(v) Lypase (v)  Protein
(vi)  Reflection
(vii)  Typhoid
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7
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9.10

e wifer 1 qRwTT R |

Write down the definetion of Electric power.

491 / OR
e[ arRT &1 IHT gAG R®IT 27

What is the thermal effect of electric current?

mad- fagervor © IR Sy forRad |

Write down the four uses of volumetric analysis.

31[q1 / OR
A fdaad  ud dAierdr fhd ded 27

What is standard solution and molarity.

THIfCH e & DIy IR ITINT foIlRey |

Write down any four uses of Acetic Acid.

3Udr / OR

IBx fITa &1 T 98 87

What are the importance of buffer solution?

JTRAT TI 3R TR 3909 § B 3f IR IR |

Write down any two differences between Aerobic respiration and anaerobic respiration.

3AYdar / OR
Bed Th AT BT FASTSY |

Explain the Crabis Cycle.
T gd TS awgall R 3R 8?
What are a differences between Luminous and Nonluminous things?

3Jdr / OR
Rig ST 6 gorer el Y@ & 189 dr 2

Prove the rectilinear propagation of light.

TS & AR 07 foIRed |

Write down the four properties of Magnet.

34T / OR
TR fd grad d HF grad H 9T AR 87

What are the differences between Natural magnet and Artificial magnet?
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.11

U.12

U.13

U.14

.15

.16

W T Ugel |7 GeID JATRAT BT ST AMRT?

What preparation would be essential before transplanting?

3Jdr / OR
foral o 3irwefg derf &1 Fferd aoi ST |

Describe any four medicinal plants in brief.

IS b fhgl S YhRI BT 9o BRI |

Explain any two kinds of Transpiration.

3441 / OR
BT FIAYT fohaT R YYTg STl dTel 918 BRDT BT Al goid By |

Shortly describe external factors affecting Photosynthesis process.
3MMepf & AR IR Sa] fba= TR & B &7 9o BHRY |
According to size how many types of bacteria? Explain.

3Udr / OR

SiaT] &7 3 e |HSISy |
Explain economic importance of bacteria.

JoishA T 57 R DI Adhdl BT FAnT forRay |

What is Spectrum? Write the experiment of Newton’s disc.

3Udr / OR

TSIUTY Td AU & ford 918 |
Draw a label diagram of Solar eclipse and Lunar eclipse.

PIAgS! BT af<h Siiad § YART T 87

What are the importance of colloids in daily life?

3Jdr / OR
IR & SUINT fIRey |

Write down the uses of Emutsion.

UICRRA AT & IR 3 Ud ST foif |

Write down the chemical formula and uses of potassium permegnet.

3Jdr / OR
IR fIcTId & SYIRT BT i ol BT |

Explain the uses of buffer solution in brief.
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947 fIga ded &1 A6, Tew Ud A E a1eR Yo qHssy | (6)
Draw a neat and clean diagram of electric bulb, and explain its structure.

3qr / OR
STel dloeTIeR &l ATHfbd I I9ThR =T FHssY |

Draw a labelled diagram of water voltameter, and explain its structure.
UA8 UroTigH T fagward foRay | 6)

Write the qualities of enzyme.

31T / OR
B Bl B AT AT YIH 3BT M H A w1 2?7 A7 |

What are the general characteristics and economic importance of Cruciferae family? Explain.
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